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Duration : 150 Minutes

Max. Marks : 150

. Please check the Test Booklet immediately on

opening and ensure that it contains all the 150
multiple choice questions printed on it.

. Separate Optical Mark Reader (OMR) Answer Sheet

is supplied to you. The OMR Answer Sheet contains
boxes for filling Hall Ticket Number, Booklet
Number, Venue Code, Signature of the Candidate
and Invigilator. Fill the boxes with Blue/Black ball
point pen only.

. If there is any defect in the Question Paper Booklet

or OMR Answer Sheet, please ask the Invigilator for
replacement immediately.

. Since the answer sheets are to be scanned (valued)

with Optical Mark Scanner system, the candidates
have to USE BALL POINT PEN (BLUE/BLACK) ONLY for
darkening the circles in the OMR Sheet including
bubbling the answers. Bubbling with Pencil/ink Pen/
Gel Pen is not permitted in the examination.

. The Test Booklet number is printed on right corner

of the cover page of the Test Booklet. Mark your Test
Booklet number on side 1 of the OMR Answer Sheet
by darkening the appropriate circles with Blue/Black
ball point pen.

Example to fill up the Test Booklet Number :

If your Test Booklet number is ‘102365°, please fill as

shown below :
TEST BOOKLET
NUMEBER

[1]o]2]s]s]s]
000000

if you have not darkened the Test Booklet number
at side 1 of the OMR Answer Sheet your Answer
Sheet will be invalidated without any further
notice. If it is darkened in a way that it leads to
discrepancy in determining the exact Test Booklet
number, then it may lead to wrong result/rejection
of the Answer Sheet and candidate himself/herself
will be responsible for the same.

. Each question is followed by 4 answer choices. Of

these, you have to select ane correct answer and
mark it on the Answer Sheet by darkening the
appropriate circle for the question. If more than one
circle is darkened, that answer will not be valued at
all. Use Blue/Black Ball point pen to fill the circle
completely. Make no other stray marks.

e.g. : If the answer for Question Na. 1 is Answer
choice (2), it should be marked as follows:
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The Transgender Persons (Protection of Rights)
Act, 2019 defines a transgender person as :

A. Trans-men and Trans-women
Trans-women only
Persons with intersex variations

Genderqueers

o 0 @

Persons with socio-cultural identities, such
as Kinnar and Hijra

Choose the comrect answer :

(1) A, D&Eonly

(2) A,C&Eonly

(3) A,C.D&Eonly

4 B,C,D&Eonly

¢ Bott o (o Sjfn) Sho 2019, &%)
BoXLi & DiSorm AMi;0igod :

A @) -8, ¢ 558

B. ¢S -H0Ssred
C. =0l ) J0omjen 5OAS e
D. 2058485,

E. ams,mma-w,mwml

Ko Sgben
S35 wapraod QohEHidn : l
(1) A, D&ESrgd
(2) A, C&Esmgd
(3) A,C,D&EZmgd |
(4) B,C.D&Esrgsd

Consider the following in relalion to the
complaint of sexual harassment under *“The
Sexual Harassment of Women at Workplace
{Prevention, Prohibition and Redressal) Act,
2013 :

A. Any aggricved woman may make, in
writing, a complaint of sexual harassment at
workplace.

B. Complaints can be made to the Internal
Committee if so constituted, or the Local
Committee.

C. Complaint should be made within a period
of three months from the date of incident.

D. In case of a series of incidents, complaint
can be made within a period of four months
from the date of last incident.

E. Where the aggricved woman is unable to
make a complaint, her legal heir or such
other person, as may be prescribed, may
make a complaint.

Choose the correct answer :

(1) A,B,C&Eonly (2) A,B&Conly

(3) A,B&Fonly (4 A,B,C&Donly

50 gpAees® bod Johd Ioohes (daebes,

Aigo, $BSFS0) Sio, 2013” otf BohE Soode

SToEHE Sonodod & Eod AR itrossn :

A FOE D IS/ BV HGF0S” Boh
SBoBo  KBoD oEFlomr LD
Babiby.

B. «fd¢ donyw soalSS woits K088 o
A 5088 Howyeh DubidiSoy.

C. Hosbid =0RS &vtd Roe HH068 hovth
Sasro.

D. 353 pede DRobos®, D36 SoToed #BA3
88 Hof Twid Jvo 5HN6Et Hovwd
B .

E. zrff § &5 Doy SabBd H¥od®, 8%
B85 SEth Bor SrdoD aists 8 o
BabHeyd.

H8R e JoHE dn:

(1) A,B,C&E&mgd

(2) A,B&C&m@d

(3) A,B & Edngd

(4) A,B,C&D3Irgd
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3.

Match the following Institutions with their
locations :

Institution Location
A. Natianal Institute for 1. Kolkata
the Visually
Handicapped
B. National Institute for 2. Dehradun
the Empowerment of
Persons with
Intellectual Disabilities
(Divyangjan)
C. National Institute for 3. Bengaluru
the Orthopedically
Handicapped
D. National Institute for 4. New Delhi
Mental Health and
Neuros Sciences
5. Secundcrabad
& 2ob 850{;9553 82 &%) @rosod® adBE b
5o @rodo

A TaSSBAPrSIEO 1. Seope
DerSP HyolswnE

B. 855 aShurgS56s 2. 2apcrS
QoHEbol ef 36§,
D8 5obBE) 58
&20045 (BargonasS)

C. IS adperg§ 368 3,
o8 1AEH 08D

D. 3555 a0btmS 56 4,
Botr5 6 wof e’
DD

doftred

g dg

5. dlogrers

Choose the correct answer :
605 a3venid JoHEHsn:

(1) A-2;B-5;C-1;D-3
(2) A-4;B-3;C-5; D-2
(3) A-5; B4; C-2; D-1
(4) A-3;B-1;C-2: D4

.E;sm
ER

The Scheme of Development of Particularly
Vulnerable Tribal Groups (PVTGs) covers which
of the following ?

A. Itcovers 75 identified PVTGs in India,

B. It covers the activities like housing, land
distribution, land development, agricultural
development.

C. It covers social security including Janashree
Bima Yojana.

D. It is implemented in 18 States and Union
Territory of Andaman & Nicobar Islands,

E.  The Scheme is rigid; the states are allowed
to implement the Scheme on the items
identified by the Centre alone.

Choose the correct answer -

(1) A B,D&Eonly (2) AB,C& D only

(3) A,C,D&Eonly (4) B, C,D & E only

B85 by ABS BardFe (PVTG e) o050

DEECS® rKBBD & Bobd B 5D 7

A. r883806" 75 10B0SH8S PVTG en 836° gorio.

B. fipfrlorgmo, et Jobd, e wdgp,
BB rDB)0 S0l srgssTes 38 grHo.

C. 38 85 Giress® 68 Fosioved 2558 Bt avifo,

D. 822 18 orglen, o8 IS Frodo eoisins,
AE%erB Biped® vxen S,

E. & 388 583350, Sdwo doge HBoDY
OB HID oo Jren wen FATY) Aotwod.

$B% ren JoSHE s

(1) A.B,D& Esmgd (2) A, B,C& DSmgd

() A, CGD&ESrgd (4) B,C,D&Esrgdh

Arrange the following poorest economic strata of
Indian society from the lowest to upwards based
on their income levels as per the NITI Aayog’'s
Social Inclusion Sector Report July, 2021 :

A. Scheduled Castes B. Other Backward Classes
C. Scheduled Tribes D. Muslims

N8 oGrR FGS aoheS Db 6F we 2021
@S0  eordh Fone  epbore  ersHih
Jirmod® & 808 Ha ©0% Fod eden Lol
28 et sn:

A WrGhow B. a8 3ds0ds S6KsHw
C. 'é'xf.:vgeg 8fen D, Swoddww

Choose the correct answer :

O3S a3seeni DoHE Hm:
(1) CAB,D (2) D,AC,B
(3) A,C,B,D 4 A,C,D,B

iﬁ%



Satavahana inscriptions record the existence of a
number of craftsmen in Telangana region. Match
the following crafismen with their occupations :

Craftsmen Occupation
A.  Kularikas l. Stone polishers
B. Manikaaras 2. Potters
C; Mithikas 3. Weavers
D.  Kolikas 4. TIron-workers

5. Jewellers

PITEHO TITD B0OrEE @odos ol

08 G Srsrhe dQAD $arh Bdaran. & Sob

3 Sevsrtho arb Sydos® addsibdn:

PSEererien Syden l
A, Hobbher 1. o8 DR Iartd |
B. Hdsdhen 2. Lo
C. odden 3. As>d
D. S90S 4, adin SNTd

5. 3enThaeh

Choose the correct answer :
383 BT Ko E !

(1) A-5,B-2;C4;D-3 (2) A-2;B-5C-1;D-3
(3) A-3;B-2;C-5;D4 (4) A-4;B-3;C-5;D-1

More than half of all multi-dimensionally poor
individuals in India live in the following states :
A. Bihar B. Jharkhand C. Maharashtra
D. Madhya Pradesh E. Uttar Pradesh
Choose the correct answer :

(I) A, B&Conly (2) A,B,C&Eonly
(3) A,C,D&Eonly (4) A,B,D&Eonly
rESAE0EN ailiultn DI eavgrd® Srd8 Dre &

Bob ovgres® DSk !
A. &6 B. =fof  C. Sboeg

D. %#Ed8 E. 48538

008 marenid QohsHn: I
(1) ALB&Csmgd (2) A, B,C&Esrgd |
(3) A, C,D & E&rgd (4) A,B,D&E svgsd |
Kollipara and Kuruvagata inscriptions tell us '
about :

(1) History of Kakatiyas

(2) History of Vemulavada Chalukyas

(3) Expeditions of Gautamiputra Satakarni

(4) History of Satavahanas

EPPE, HESHY TR HIH HER BenHaraw :

(1) =s8cinve S0

(2) Jsweses el SoE
(3) FEHSTSEY SolcmSe I
@) esaririe SO |

10.

Which of the following “siccas”/coins were used
during the Asaf Jahi period ?

A. Hali Sicca
B. Mahbubia Sicca
C. Mali Sicca

D. Osmania Sicca
Choose the correct answer :
(1) A,C&Donly
(2) A,B&Conly
(3) B,C&Donly

4y A,B&Donly

& Bob >B6° o35 aire roost aBEEPRODS
“DES e /e 90 7

A HObS
B. Somrarddb b,
C. srOB%
AJRCEE HY)
TS RET D RDOSHE D

(1) A ,C&DIrgd
(2) A,B&Cargd
(3) B,C & Dsrgd
(4) A,B&DSrgd

Who was the architectural designer of Osmania
University College of Arts & Social Sciences
building ?

(1) Belgian Architect Earnest Jasper

(2) Spanish Architect Andrea Palladio

(3) Egyptian Architect Ali Khaled Elewa

(4) English Architect John Abel

ofr N0 crRsed s8S of 6, ©of s
2D Y5S0 88 BySS AFKE 58 ?

(1) DS 66,BE BT 30

(2) oS 80D soduir Hepbdr

(3) &R ©8B5 ©b 08 385

(4) 20NQ 608 =5 DS
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Match following newspapers/magazines with
their respective founders during the Asaf Jahi
period :

Newspaper/Magazine Founder

A. Asif-ul-Akbar 1. Amjad Ali

B. Safeer-e-Deccan 2. N.Narayan Rao

C. Musheer-e-Deccan 3. Shoebulla Khan

D. Imroz 4. Qaza Abdul
Ghaffar

5. Pundit Kishan Rao
035 wire seostd & Bobd FTHBBw /

St e Do 08" eedS D :
FEHBE /S i@ o
A. wdf-ad-0%6 1. woubeb

B. 356-0-85%S 2. IR.>oeah oo
C. 50hB-2-8%55 3. Pdoer el
D. sag@rs 4. gree oz 138

5. Y088 &K o8

Choose the correct answer :
5355 asaranih SoiHS m :

(1) A-4;B-3;C-2;D-1
(2) A-3; B-2; C-4;D-5
(3) A-5;B4;C-3;D-2
(4) A-2;B-1;C-5;D-3

Which of the following are part of the Gond
Tribe ?

A. RajGonds B. Madia Gonds

C. BhonslaGonds D. Khatulwar Gonds
Choose the correct answer :

(1) A, C&Donly (2) A,B&Conly

(3) B,C& D only (4) A,B&Donly

& Bob ar0S* fPoth B8riS® grifo mon:s oot DS ?

A. oof foen B. H&chfoden
C. d&fophtotoen D. ntoerd oo
JON TP J0IHE 6 :
(1) A C&Dsrgd
(2) A,B&C&rgd
(3) B, C & D &g
(4) A,B&D Smgdh
22
B 1
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Match the following authors with their literary
texits :

Author Literary Text

A. Vallabhacharya 1. Prataparudra-

charitamu
B. Ekamranatha 2. Simhasana
Dwatrimsika
C. Kase Sarvappa 3. Ganapathi-
devacharitamu

D. Koravi Gopanju 4. Kreedabhi-ramamu

5. Siddheswara-

charitramu

% Sod USondod B el orrost

858HE :
it 2rtrd; riolo
A Soorob 1. PO SO
B. dsvgharthth 2. BoISS oryBobY
C. R 3. Aewsns Soasn

D. E5dR*Sorw 4. fodonm
5. B34S oo

Choose the correct answer :

535 arad oS Hin :

(1) A-3;B-5;C-1;D-3

(2) A-5;B-3;CH4; D-1

(3) A-4;B-1;C-5;D-2

(4) A-2; B-4; C-1; D-5
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Match the following books and authors :
Book Author
A, Tokkudu banda 1. Annavaram
Devendar
B. Mankamma Thota 2. Gogu Shyamala
Labour Adda
C. Jeevitam Oka 3. TKrishna
Udyamam Murthy Yadav
D. Enuganta 4. S§.V.Satya-
Tandrikanna narayana
Yekulabuttanta
Talli Nayam
5. Joopaka
Subhadra
800 Jizred 8 SSandes® $6D0y0d:
Do SiSons
A, &% ol 1. ofsdo ddosb
Doyt B8 2. A eghe
o
dddozgaldpho 3. &.6R%m0 areS
D. >%Nof dod¥xmy 4. IR.D. Segvoedhem
obembod &9
Mdba
5. exears oS
Choose the correct answer :
29 earanid QoS Kodkn:
(1) A-3; B-1; C4;D-2
(2) A-l; B-2; C3;D4
(3) A-5; B-1; C-2;D-3
(4) A4; B-2; C-1;D-5

Which one of the following is NOT a book
written by Jeelani Bano ?

(1) Patharon ki Barish (2) Aiwam-¢-Ghazal
(3) Naghme ka Safar (4) Pinjar

& 808 H3Tost 8ord e 55 508 58?2

(1) »88% 808

(3) A5 556

(2) oeS-a-Pad
4) SHowub

|
l
|
I
l
|
|
|
I
l
I
l
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Which of following statements are INCORRECT

regarding the Ramappa Temple ?

A. Tt was built by Rudra Deva.

B. Itis a Shiva Temple.

C. Perini Dance Postures are carved in the
Temple.

D. It was declared as a World Heritage
Monument by the UNESCO in 2020,

Choose the correct answer :

(1) B&Conly (2) A, C&Donly

(3) A&Donly (4) A, B&Conly

oo Baredho 18D & 0B s8E° DD $359

=57

A & Do) B B9 0005,

B. 8 doredho.

C. b8 s HohdedH & Baredhol
Do,

D. & Jdorodrl) 202068° Gdod HsE;
Sétforr R, HESo00.

0T earanid QoiHE b

(1) B&C3mEd (2) A C&Dsmsd

(3) A &Di&rgd (4) A,B& Chmutch

Which among the following castes was NOT
included in the “Ayagar” system during the

Kakatiya period ?

(1) Komati (2) Kummari

(3) Mangali (4) Kamsali
8o Soo T "edirryE” $3506° & dob
Serod® 98 Byl 8t ?

(1) 58 T @) %

(3) Dokd (4) Bord

In which of the following places did Sarvai
Papanna built his Forts ?

A. Thatikonda B. Shapuram

C. Geesukonda D. Vemulakonda
Choose the correct answer :

(1) B,C&Donly (2) A,B&Conly
(3) A& Conly (4) A,B&Donly

& 808 D @rogrod® romgom 30, Ebe 98,00
b ?

A, o8eol B. Jr3do
C. AxBol D. Jsvosod
RN exareni Do HE in:

(1) B,C&D&rgEdb (2) A B&Cérgd
(3) A&CSrgd® (4) A, B&DSeEd

E%%? +*
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Which of the following statements regarding

Sammakka-Saaralamma Jatara are correct ?

A. Sammakka-Saaralamma Jatara begins at
Medaram,

B. It commemorates the fight of two sisters,
Sammakka and Saaralamma.

C. Jampanna was the brother of Sammakka.

D. The actual festival begins during the month
of Magha, on Suddha Pournami,

Choose the correct answer :

(1) A&Donly (2) A,B&Conly

(3) B&Conly (4) B,C&Donly

SdogE; -rorain) eréth Somodod & Sob orBS

/50207

A SR -dooky =088 Dodeds
ErdodiSF&ob.

B. b X%, ook, agth Rubime
LPortrl) K 8othBotood.

C. 20D 558 Lo,

D. eben Sotd &rd Srdos® %5 P FH
Enlatigivialal

H8R exarens oS Koo :

(1) A&D:Sm@d (2) A,B&C3rgd

(3) B &C &rgd (4) B,C & D SrEd

Consider the following about Sufism in
Telangana and identify the INCORRECT
statemnent :

(1) The Sufi Saints propagated the composite
culture and unity between Hindus and
Muslims.

(2) Kankhas are the Tombs of the Sufi Saints,

(3) Dargah of Hazath Baba Sharfuddin
Suhrwardi is at Pahadi Sharif, Hyderabad.

{4) Shaik Baba Sharfuddin and Shiabuddin
propagated Sufism during the Qutub Shahi
period.

“Boorrnd® drbonerdd” Somofod & 8ob

T H0KB00, SXPLD BHELID HBoSod :

(1) Sd D8 rHde Sroliv-Snion S
IFS SoRyB, HEEDH @Brso Jew.

(2) sropren S 8 P SEmthen.

(3) @8 wrer  R5BS  RYY
et S8 BB5 58 6.

(4) HBHF iro seos® A T AWES,
BasraodS b DevR) Harso e,

oy

ElRi=

O}y
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Match the foliowing Films with their Directors :

Film Direcctor

A. Dorasaani I. Nimmala
Shankar

B. Matti Manuhsulu 2. K.V.R.
Mahendra

C. Jai Bholo Telangana 3. Raj
Rachakonda

D. Mallesham 4. B. Narsing Rao

5. Shyam Benegal
&k Sob HEre ardd Cﬁﬁgﬁ)oiﬁﬁ 2858 h5n:

B0 B8t

A. BP0 1. Doy #o¥b

B. & Hodokpen 2. 8Deb Hirogd

C. 8°° Boorrem 3. ool el

D. Hieddo 4. H.580R od
5. Beih BHKE

Chaoase the correct answer :
PG e HoHET R |
(1) A-2;B4:C-1;D-3
(2) A-5;B-3;C-4;D-1
(3) A-3;B4;C-2; D-1
(4) A4;B-5,C-1;D-2

‘eVTOL Technology' is related to which field ?
(1) Microbiology

(2) Biofuel Production

(3) Aviation

(4) Semi-conductor manufacturing
‘eVTOL roS8¢  20pdo’ D

02080038 7

Borrd8

(1) srgdsego

(2) dNmodso add
(3) Deiddiro

(@) egirwoscrd

r“1 4
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Consider the following in view of PSLV-C53 :

A. It was launched from the second launch pad of
Satish Dhawan Space Centre on June 50, 2022.

B. It is the dedicated commercial mission of
Antrix Corporation.

C. The launch vehicle carried three satellites from
Singapore, namely DS-EQ, NeuSAR, Scoob-1.

Choose the correct answer :

(1) A & Conly {(2) A &Bonly

(3) A,B&C (4) B & Conly

PSLV-C53 Syap; &3 Bob &r&d Soridodol :

A sb 588 58 R RokE (SDSC) &
Sotfderold B ol ewh 302022 S
Earhosadod.

B. a8 dbo@l) sEUEES &8 Trand® TGS
aeedag; RN,

C. ROl f008 DS-EO, NeuSAR, Scoob-1 &3
eFard Aok Gl T8 Ari30eb.

$0:5 marand JocHESHm:

(1) A&CSrEDd  (2) A&BSrSD

(3) A,B&C (4) B&C &rgga

On a cold day, during an early breakfast of bread
with Ketchup, one would have noticed that the
ketchup barely moves out of the bottle. A little
warming of the Ketchup would solve the
problem. Which of the following statement
makes sense in the above context ?

. Liquids become less viscous during high temperature.

Kinetic energy of the molecules increases with
temperature.
Liquid resistance to flow increases with increasing
temperature.
Kinetic energy counteracts the intermolecular forces.
Choose the correct answer :
(1) A,B&D only (2) A &Bonly
(3) A,B,C&D (4) A, C&Donly
2.8 SPer ol addied @6, 388 worpfto 0T

Soos®, S ol 33 Jossr nahbH TrEEe
8650 Koo esBRob. wond 8IS H Farr 38
33 60 GOASHHEwoD. D Kostomr Sob
T80 O BELS wES080mT 800h?

. 658 SFFES 5o0hos® Baren 8B EROT SrSero.
. S HEE wmhe K8 €8 bbb,
ooty QP ISE° S8 it NE%EEE 0.
. 118 §8 0odt vmw vered @88k,

HO@EH earandy JohE Kin :
() A,B&D&mgdh (2) A&BImEd
(3) AB,C&D (4) A, C&DSr@d

N e .
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What would happen to earth if the sun suddenly
disappears ?

A. The earth immediately experiences the lack
of sun light.

B. The earth experiences the lack of sun light
after about eight minutes.

C. The earth immediately experiences the lack
of gravitation.

D. The carth experiences the lack of
gravitation after about eight minutes,

Choose the correct answer :

(1) B&Conly (2) A& Conly

(3) B& Donly (4) A&Donly

S dgth eI SrahDB G DHHdod?

A, g JooF SrEEeN Sehibob.

B. el wrorR OO ddde  dovd
AondB80 't d08.

C. D Jo03 hhavsdnd 5660,

D rdh oo QDD Qdupe  Hoogd
FotharsEden 5565 Hhab.
=~y
$8% e JoDHEHdn :
(1) B&Cérgd (2) A&CErgd
(3) B&DSrsd 4) A&DISd

The correct order of velocity of sound in the
media — water, iron, vapour and air is :

(1) water > vapour > air > iron

(2) waler > iron > vapour > air

(3)
(4)
0, B, D8 696, ™o drises® i Irold
HoeoloDS SO Biodn:

(1)
()
(3)
4

iron > air > vapour > water

iron > water > vapour > air

%> Hi8 DB > rmd > oisn
56 > mEn > HS 826 > D
233N > md > DB wdd > HH
i > 5% > SO s > D
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27,

Match List-1 with List-2 and select the correct

answer using the codes given below :

A,

O

List-1

(Defect of vision)

Myopia
Hypermetropia
Presbyopia

Astigmatism

2.

(Corrective lens)

|
|
|
List-2 i
l
Bi-convex lens
Bi-concave lens
Cylindrical lens

Concave-

convex lens

|
BosS Ay SR aS@PA0Y, erDev-1 D endas-2 & fl

2ED0D, FOEN wTreiD JothS Ky ;

eDer-1
(5} 6%30)
€5 Gyt
85 5%
Sano

ey%sm;e.':eso

A-2; B-1; C4; D-3
A-1;B-2; C-3; D-4
A-4; B-2; C-1;: D-4

A-4; B-3; C-2; D-1

—
.

edor-2
(%2808 St%0)
By-Soersei Stako

Ey5-Pees BtaXo

Srarsed ko

28.

Match the key-boards with their layouts :

Type of

Key-Board

A. QWERTY

B. Dvorak

C. Dextr

D. KALQ

o

Layout

Vowels on left hand
side and most used

consonants  on  right
hand side
Letters arranged in

Sq'Llﬂ!'t.' panems

Letters start with Q,
W,E R, T, and so on
Optimized for thumb
typing

Keys in alphabetical
order

§-5°5 S5 ui 8 Bomos® $50fe08.

A,

=

§ 6% vsis

QWERTY

Dvorak

Dextr

KALQ

T

oS
QT8 Ji ooy
(vowels), D85S
a3@=A0T srenen

(consonents) %8 3y
8

Q. W, E, R, T erod
T8 Iwbedh; o¥oren

. God Bhof 5% sh@d

Scholad

. ©F8 e Eod® dovte

I:idﬁae;g_‘; Eren

Choose the correct answer :
RTN 2P a0l oS Kin:

(1) A-3,B-1,C-S, D-4
A-3, B4, C-2, D-5
(3) A-3,B-4, C-1, D-2
A-3, B-2, C-5, D-1

(2)

4



29,

30.

T ok>

w

Which of the following organizations set the
standards and naming rules to be adopted on the
internet ?

A. The Internet Society

B. International Organization
Standards (I0IS)

American  Association
Protocols

The Internet Corporation for Assigned
Names & Numbers (ICANN)

Choose the correct answer :

(1) B&Donly (2) A,C&Donly

(3) A& Donly (4) A,B&Conly
©08Troo(B06B5 )& Fouofod ERHOOT O

Preren, DodSrod Sob 88 D 8o /en
Grerobinod /ErErodyran:

A. BzoLByS s

B. =068036 o3EaS 66 aobdylS Fosh,
(1018)

oDOES oIS 36 vowdysS Fe'sd

B8 motBytS ETEN $8 vl A & Soak)
(ICANN)

HOELD aarad JoHEHsn:

(1) B&D&m$D () A CEDSEdD
() A&D&rEDH (@) A, B&CSo@gd

Match the below products of biotechnology with
their application for treatment of various
discasecs/disorders.
Interleukins 1.
Insulin 2.
Tissue plasminogen 3.
activator
Blood factor VIII 4,

for Internet

C. for Internet

D.

C.
D.

Treating Haemophilia
Treating cancer
Treating diabetes

Treating heart attacks an
stroke

Treating Ieprosy
&% Jo38E BB eé‘}aum Soboko B0 O BEDS

TiHo ITCRE” SHEedEr 6D aHwEDD.

TR SO HFHE® 2EHHSHKD.
aotab engBS, 1. Sr@rddabe D8
208 2. %5084,
Emerod EES 3. Hodidr ad 084,
et

. % se8ES» VI 4. HoTden D8,

5. 5);2 sl D8S,
Chaose the correct answer ;
IS arend HoHE D :
(1) A-2,B-3,C4,D-1 (2) A-5,B-3,C-2,D4
(3) A-2,B4,C3,D-1 (4) A4,B-3,C-1,D-2

d

e ———— ———— e T—— " —. SR S % i S

11

3

3

]

1.

2.

3.

Match the following bases as per their usage :

A. Ammonium 1. Fire extinguisher
Hydroxide

B. Sodium 2. DBleaching powder
Hydroxide

C. Calcium 3. Soap preparation
Hydroxide

D. Aluminium 4. Removing grease
Hydroxide stains

6O sporesd ard DA srbore ednbdod.

A 0dr0dbo PERE 1. efyubess ddso

B. dl&ado rrref 2, ;{_}Qoﬁ b

C. sddbo g 3. Deny Bk

D. eerndabo 4, (her 880
TrEed)6 &Fohod

Choose the correct answer :

RO erarenRy JODE Kod:

(1) A-4 B-3 C-2 D-1

(2) A-4 B-1 C-Z D-3

(3) A4 B-1 C3 D-2

(4) A-4 B-3 C-1 D-2

IIT Kharagpur researchers developed eco-

friendly food packaging material with which one
of the following ?
(1) Cucumber Peels (2) Banana Peels

(3) Cow Dung (4) Banana Stem
008, p8f P oH & Gcd a5 I8

ot ohire HE  AE2oR  SHHed
SA5FEDhTS 7
(1) Sowdd &%
() sH B0l

(2) o888%5w
4) w8 =odo

Examples of WVoluntary Standards (Indian
Standards) adopted based on International Codex
Alimentarius with suitable modifications.

(1) Milk & Milk Product Order

(2) Bureau of Indian Standards & AGMARK
(3) Standards Weights& Measures Act

(4) Fruit Product Order

Y 38ees’ acbtHsd 5528 eddotrbdbh

serdore ool Foly (wolabl Yoif,)
Domen Tahugpon. © 9D ?

(1) Db &Mé) G b

(2) st 8 nolddS Jokf, & of 58)

(3) Foish JoweSy, Desby sb

(4) @& el b



34.

35.

Consider the following statements in view of I 36.

rusting of Iron ;

A. Itis chemically named as Iron Oxide. ’

B.  Rusting is considered as a chemical change. ]

C. Zinc is coated on iron articles to prevent !
them from rusting,.

Choose the correct answer : I

(1) A&Conly (2) A&Bonly |

(3) A,BandC (4) B & Conly ;

aEy BFP ShKo Syl & Sobd e ]

$68D0S0k. l

A B2 638 o 085 CEN

B. &%y dhdo SO Irdyr erdod
alabTivIaTal

C. &gy Lo a2kdH SPeR o Ps
Sedrih.

238 maran D SoHEED:

() A&CHED () A&BSrsdH

(3) A\B&C 4) B&CErgd

With reference to the isotopes of clements,
consider the following statements - I

A. The isotopes of cobalt are used in the ’ B.

treatment of cancer.
B. The isotopes of iron are used in the
diagnosis of anemia,

C. The isotopes of uranium are used as fuel in D.

nuclear reactors,
D. The isotopes of iodine arc used in the
treatment of Hepatitis A.
Choose the correct answer :
(1) A B&Conly (2} A& Bonly
(3) AJB,C&D
Srose oSS 0% Sowobod, Eob RSAISEN

BBKBotol ;

A, Erd of'B o 52565 084, oF
SBEFATE. |

B. 2080 offe'S o 8588 5hget
SHATATE.

C. dBRabo wfe’S oo wm Bairgge 39.

BOONOM GBEFAT .
D. o@riSafferS o HB8S5-2 088,68
SAARAFD.
DTN earanid dobEkn:
(1) AB&CErED (2) A&BIrEdD
(3) A,B,C&D (4) B&CsSrsd

e — i — — . S o
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37.

o 0w »

(4) B&Conly [ 1s.

Mother’s breast milk provides immunity to new-
born babies because it contains :

(1) Immunoglobulin A (2) Immunoglobulin E
(3) Immunoglobulin G (4) Immunoglobulin M
8 By e Sberd 2P S HICEE 80
©odon, JoEoS vohd® acda:

() odFfedSA (2) =byFAmeSE
() =iFRodSG (1) =5FRads M

Consider the following in relation to the ‘Monk
Fruit:

. The monk fruit is known for its properties as non-

caloric natural sweetener,

Originally the monk fruit is cultivated in China,
The cultivation of monk fruit is taken up for the
first time in India in the state of Himachal Pradesh,

. The cultivation of the monk fruil in India is

supervised by the Institute of Himalayan Bio-
resource Technology,
Choose the correct answer :
(1) B,C& Donly (2) A,B&Conly
(3) A,B,C&D (4) A, C&Donly
‘& Poo'(Monk fruithh SBomofod & Sod

B KeroHis -

. S0 Sifrer 8D oferer SO Gobod® dHd

Heo @’J%%.
PRTRE ChE Huo I Bard® athibibod.
TEEETOS® 0H8 Hcre Jrh S D0 PSS 2588 5t
I8,
THERI0E b8 Joro T =0t w6l
TIPOADS adir-88°8,) Bsyed wih 553 8k,
88 atran oSy |
(1) B,C&D&r3d (2) A B&Csrgd
(3) AB,C&D #) A C&D&Irgdh

Before transtusion of blood, every unit of donor blood
is NOT tested for one of the following diseases :

f1) Cancer (2) HepatitisB & C

(3) Syphilis (4) HIV

85 Er8,08 dmoth, ord ad) B8 S50 S Bod

;06 B0 8550 880 wich ?

(1) %8 (2) IDSSDH&D
(3) 0% @) 500

‘Graves disease’ is caused due to excess
production of which of the following hormone ?
(1) Thyroxin (2) Parathormone

(3) Growth hormone (4) Insulin

& 200 2 3RS © ©98 68,8 sSworr ‘AS, T8’
Hpoh ?

(1) gméﬁ
(3) 6558

(2) oogeth,S
(4) Ei?&“}aﬁ



40.

41.

Match the following :
Tree Usage
A. Ashwagandha 1. Medicine for Blood

Pressure
Medicine for Jaundice

Medicine for Nervous
weakness
Medicine for Abdominal
pain

5. Improves memory
& 80h 8D s BhHihsn «

Dt

A @-Hyi:d L.
B. 5810t
C. Joads
D. erde;

B. Sarpagandha 2.
C. Nela usiri 3.

D. Brahmi 4,

adarKo
55 SFen St
b 508 oth
Sore 2olrissH Hoh
2 T8 Hotd
28 480 DosroBodio

Chuose the correct answer *
ROGHE aarand Joths i Ry:

(1) A-5, B4, C-2, D-3
(2) A-l,B-2,C-3,D4
(3) A-3,B-1,C-2, D4
(4) A-3,B-1,C-2, D-5

hoEs WL

Match the following Covid-19  vaccines
according to their nature :
List-1 List-2
A. Pfizer 1. Plasmid DNA
B. Covaxin 2. Inactive Vaccine
C. Sputnik-V 3. RNA Vaccine
D. Zykov-D 4. Adenovirus based Vaccine

8008°08-19 8500 o8 Gwrdo sovdor
28335508,

avdor-1 eedar -2
A pub L. PREEITD
B. =05 2. anowrasde
C. 88V 3 sfoS5ode
D. g8%8-D 4 woF355eresde
Choose the correct answer :

HOELE asrenid JoHE B0
(1) A-3 B-2 C-4 D-1
(2) A< B-3 C2 D-I
(3) A-3 B4 C-1 D=2
(4) A< B-2 C-1 D-3

|
l
|
I
I
l
|
J
|
|
|
|
|
|
|
|
.|
|
|
!
|
I

l
|
|
!
|
|
|
|
|
|
i
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42

4

3

S 0 w >

A,

B

a

D

What is “Happy Hypoxia” ?
(1) The condition where You may not realise
your oxygen levels are crashing,
(2) Is a Hormone released by brain when you
feel utmost happincss.
(3) The condition where you may not realise
your blood sugar levels are falling.
(4) The fecling of mind when you have
_accidentally survived from the death.
3550 By el 350 7
(1) & @8sS raver HADHTEOD Hih
HSR0SER 5658,
(2) 2% ©S8DE slomd ORPIRIHPE
DSt Debter TP .8 $6°S.
() > v Aoyove PEDHTHHD o
AD0SE 562,
(4) b Hdwo Dol eHSHor odbb
BESHPLD 558 Do grss.
Consider the following statements in relation to
the newly developed solar powered survey craft
for ports and inland waterways :
This is developed by the National Technology Centre
for Ports, Waterways and Coasts in IIT Madras.
This is developed by the National Institute of
Ports, Waterways and Vessels, Cochin.
This is an unmanned autonomous survey craft and can
be used to ease maritime traffic cven in shallow water,
The Craft does the hydrographic  and
oceanographic surveys and provide real-time data
transmission over long distance.
Choose the correct answer :
(1) A&Donly (2) A, C&Donly
(3) B&Donly (4) B,Cé&Donly
LiSHen, wosls we Irre 505 8% g
@50 I3 F5 88 583 &5 (dboo )
Soznedod & SoBarmseds $BXBo S0l :
G0 008 HErk 650 3556 Beyod vovb 96
8, =6 I wok £, 6 058 .
&0 I8 BRerS 6 F,, wveb 3T @ok
3B, 50T ©D5)0 Baeth.
&b GPSHELrE, SHioho@ssa Ke &g/ dbogo. 5D
SHED VB S5l Barer BovsBbo Sbods
T aDAPA0ES D).
& grg/cogo EF LS, LBahS S v
Bctbifetss, MBS Grdo HS-Sodh Ber (T
Dhrenrdsos.
N8R esaranid Dot sim:
(1) A&DzZrad
(3) B & D srgd

(2) A, C&Dsrgd
(4) B,C & D#rgd

.
i

M‘
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44.  Which of the following arc major divisions of ’ 47.

occan floor ?
A, Continental shelf B. Continentz] slope l
C. Deep sea plain D. Ocean arcs

E. Ocean deeps

Choosc the correct answer :

(1) A,B,D&Eonly (2) A,B,C&Donly
3) AB,C,D&E (4) A,B,C&Eonly
808 TAS LoD ethid ot [a

Prren 2D 7

A, sodTobd 28)

B. =odiSotd e

C. &8s S8mE Povdo
D. S Sasden

E. 35083 eorrgren
388 marai® JothEhdn:

|
(1) A, B,D&E &mgad |
(2) A,B,C&D3Hrgd . i

|

(3) A,B,C,D&E
4) A,B,C&E Sr8d

45.  The dry aromatic roots of which of the following
crops are used to make mats, curtains and fads
etc. ?

(1) Palmarosa grass (2) Mint
(3) Patchouli (4) Vetiver
Bod 86* O Dot GWE, JodS ol IEH

Emitn, $3X SO g Hol T8 saiebst

AHDAPAID 7
(1) s Ke 2) Hbo .
(3) 30 (4) 856

46. The Cabinet Committee on Economic Affairs
(CCEA) chaired by the Primc¢ Minister has
approved the increase in the Minimum Support I
Prices (MSP) for Marketing Season 2022-23 for
the following number of Kharif crops : I
(1) AllKharifcrops (2) 14 Kharif crops l
(3) 4 Kharif crops (4) 24 Kharif crops l

B8 B0d 66 6hs HEFoo SRS
$0d 2022-23 ¥r3)80R bk H mH oY w85
Sotuth EI D oo Dodod ? '
(1) epbhloben (2) 1465 Jowen |
(3) 4905 bokew (4) 24985 Sobyen {

+ o 14

48.

Which of the following are National Waterways

in India ?

A. Haldia to Allahabad on river Ganga.

B. Geonkhali Charbatia stretch of East Coast
Canal

C. Dhubri to Sadiya on river Brahmaputra.

D. West Coast Canal from Kottapuram to Kollam.

Choose the correct answer ;

(1) C&Donly (2) A,B& Conly

(3) A,B,C&D (4) A,B& D only

& 800 aBd° DD g8 T 08 et wo Sroren?

A. HorrS562% o &rDdie Sol weiferth :mgo_

B. &r&y) 85 @rod send 60 d@rond soryBdh
frgo.

C. @S S8 o 5 Kod BacD SE%.

D. $8y% &850 srend (@rodos® B Ho Hold
Eero H55.

W8S warani JoHE Dak:

() C&D&w@Ed  (2) A,B&CIEIEDH

(3) A,B,C&D (4) A,B& D dmgd

Match the following Mines of India with their
respective Mineral production :

Mine Mineral .
A. Kodingamali, Odisha 1. Copper
B. Malanjkhand, Madhya Pradesh 2. Iron
C. Kunderkocha, JTharkhand 3. Bauxite
D. Bailadila, Chhattisgarh 4. Gold
5. Lead & Zinc

& BoB rESAT Kioom 9D 658 36 PPLs®
2 SH8DED ;

[t R0
A, S8ordrD, L&F 1. oeh
B. &Herod pok, a’nd&a’ﬁé 2. s
C. %0@65%S, erfol 3. 3§
D. Beler, 8508 4 aaohr'rﬂdo
5. &30, 8rd0

Choaose the correct answer ;
P8 Larard Do E Naw:
(1) A-5;B-4;C-2;D-3
(2) A-3;B-1;C4; D2
(3) A-2;B-5;C-1; D3
(4) A-4; B-3; C-5; D-2



49.

50.

5L

The Sargasso Sea is located in ;
{1) South Indian Ocean

(2) North Atlantic Ocean

(3) North Indian Ocean

(<) South Atlantic Ocean
-.-.—'\J 'y Sdwigio 8 @oh ?

&5 Srolir Sotddmso
et wirods Hifdhotio
&8 trodie SdEian o

(4) &3p wiros HilEimso

Which of the following is NOT the peak of
Western Ghats 7

(1) Jindhagada (2) Kalsubai

(3) Salher (4) Pushpagiri

5808 BS° H8,% 550D dpbo 208 D8 ?

(1) Bogirie (2) Heoyerdd
(3) %g6 (4) Dho

Match the following Medium Irrigation Projects
of Telangana with their locations :

Project Location
Boggulavagu 1. Dharpalli  Mandal,
Nizamabad Dist.
Pennballi  Mandal,
Khammam Dist.

Malhar Rao Mandal,
Jayashankar-
Bhupalapalli Dist.
Kotepalli Mandal,
Vikarabad Dist.

5. Bheemaram Mandal,

Manchiryal Dist.

& Bod Boornd'd DG S5 A8 I

Srabo 8 énzawﬁs BEDESHS :

g & sa

A Phomid 1 8D Hotlvo, Depdirard

A,
B. Gollavagu 2.

Lankasagar 3.

Ramadugu 4,

#ep,

288, Holioo,pio Sep

el ord dhotleo,

adﬁyﬁoég PR Bep

B850 Dokvo, Derorerl

e

5. Dirto
?"..‘;JD-;'}G“S&? =y

B. Feaert
C. wosa8

W

D. oot 4,
oo,

Choose the correct answer |

QBR amraed JoDE NN
(1) A-5;B-3;C4;D-2 (2) A-4 B -2; C-5; D-3
(3) A-3;B-5;C-2,D-1 (4) A-2;B-4;C-5; D-1

15
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|
l
|
|
|
I
|
|
|
|
I
I
l
|
i
|
|
|

i

52.

53.

=

Congsider the following statements :

A. The southward shift of counter equatorial
warm ocean current during southern winters
give rise to El Nino current.

B. El Nino phenomena increases temperature

of East Pacific Ocean off Peruvian coast.

El Nino brings heavy rainfall to coastal Peru.

South-west monsoons in India weaken

when El Nino phenomena takes place.

Choose the correct statements :

(1) A,B&Conly (2) A&Bonly

(3) AB,C&D (4) B&Conly

Sod Tgryed HonRdouod |

A 83n  oiffod®  dorsoos®  Tobb
S80S Bing e K8k 3
Lo 28 AT Herarll 108H00.

B. 26 35 Herso Sod St HhD5 Skt

C.
D.

DR S0 AEKS bR,

C. 5 3T Perdod® H &Y Grodos® b
Sgardo HHEon.

D. er88ddos® 5 TP Pordod® s
anibddaren aolrdddaran.

SO gD JoDHE Rdy:

() AB&CIESSD (2) A&BSrgdH

(3) AABC&D (4) B & Cs5m@ah

Consider the following statements :

A. One of the causes of Global warming is
greenhouse effect.

B. The atmosphere absorbs part of the long wave
infra-red radiation cmitted by the carth.

C. The gases that absorbs long wave terrestrial

radiation are called as greenhouse gases.

Carbon dioxide and Nitrous oxide are

greenhouse producing gases,

Choose the correct statements :

(1) A,B&Conly (2) A&Bonly

D.

(3) A,B,C&D ~4) A & Conly
&af n‘.‘a&)‘gﬂfn HbHBodod ;
. grorrRl w¥ 500 IRBEN R (AS ITR) Serso.

FrorSbno, drd Lod Iwsd Bg Sbol Hovhes

(infra-red) D8Bmods® S0 grred) 1i8rob.

FrO85m B SBorre §irold aBe B
K5 (AR °R) srdiuihen wotrdh.

sE)S BB, JeD wiyd 08 Ky (AS FTR)

Rerarnd wods Paoden.

JEELN Ty JowE RN |

(1) A B&Cémgdh (2) A& Birgd

(3) A,B,C&D (4) A&CImEd

OS50
o]

+
%
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54.

55.

56.

Which of the following districts of Telangana
has the border with Karnataka ?

A.  Vikarabad B. Narayanpet

C. Medak D. Jogulamba-Gadwal |
Choose the correct answer :

(1> A,B& D only (2) A,B&Conly

(3) A,B,C&D (499 A, C&Donly
Boorewrs™ & B0 D deren ¥orerda® KoD tien
EDA ﬁa‘&m) ?

A, Jzorerh B. ~ordbmab

C. gk D. &hwon-Kod
835 asrand JoHEHd:

(1) AB&D&mED (2) A, B&Cargd

(3) AB,C&D (@) A, Cé&D smgdh

Match the important mountain peaks with their
location in the Andaman and Nicobar Islands -

A. Saddle Peak 1. North Andaman

B. Mount Diavolo 2. Middle Andaman

C. Mount Koyob 3. South Andaman

D. Mount Thuiller 4. Great Nicobar
oodarS, WerE SHod® ayy Bos B5E

B0 8 Fo8® Kool

A, PASDE 1. &35 ©olirs
B. &Poff SurSs® 2. fgwosErS
C. o5 S@rd 3. 58 wotlsrl
D. ol Srowel 4. A& 28%rE

Select the correct answer :
3PN SErerard) doihsod:
(1) A-1,B-2,C-3,D-4
(2) A-4,RB-3,C-2, D-1
(3) A-2,B-4,C-1,D-3
(4) A-2,B-1,C4,D-3

Genome Valley in Hyderabad is a :
(1) Ecotourism site

(2) Amusement Park

(3) Textile park

(4) Biotech /life science cluster
b dth b vde o &:

(1) =8 erdao psS

2) 258 amgssso

(3) BE,BS 6,

(4) oaros /2528 556

s — —— S S e
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57.

Match the following :

Place Craft/Industry
A, Karimnagar 1. Pamting
B. Pochampally 2. Metal Craft
C. Pembarthi 3. Ikat
0. MNirmal 4. Silver Filigree
5. Carpets
20b oD wENBSs
e 8¢ /30D
A. Bbosng . 2aonoBoR
B. &350%9 2. Ded (¥
C. Townd 3. =88
D. 5 4. hobLDA
5. 8zden

Choose the correct option :

KOGE axarani JohE od:

(1Y A-2,B-1,C-3,D-5

(2) A-1,B-2,C-3, D4

(3) A-4,B-3, C-2, D-1

(4) A-l,B-2,C-4, D-5§

Consider the following in relation to

Kaleshwaram Project :

A, Construction of one barrage across river,
Godavari at Medigadda.

B. Construction of two barrages between
Medigadda and Sripada  Yellampally
project at Annaram and Sundilla.

C. Construction of one barrage on river
Manjeera at Papannapet.

D.  Kaleshwaram stabilizes the exisiting ayacut
under SRSP Stage 1 & 11.

Choose the correct answer :

(1) A C& Donly (2) A,B&Conly

(3) A,B,C&D (4) A,B&Donly

TEido @ahd Lomofod & 808 8D

Felalats-latalalnts

A DERE 55 FPorEd 66D a8 2rBd Qovmo.

B. wmgo, oty 3¢ 3;6?165 B dgodd

1‘3 0555 Both ﬂ"ﬁéu Qo 0.

C. Broe 3¢ Sodoe 36 &8 arsSd om0,

D. =% 25550 SRSP % 1 & 11 Sotf Eigifo &y
udbéé.z," ”«6%;&@

S0 aarani wOnﬁJé‘Fﬁam.

(1) A,C&DZ@dD (2) A B&CIrsd

(3) A B.C&D (4) A, B & D fmgah

PJ.: 9




59.

60.

Point B is 3 meters North of Point A, Point C is 3
meters West of Point B. Point D is 6 meters
South of Point C. Point E is 11 meters East of
Point D. Point L is how far (minimum distance)
and in which direction to Point B ?

(1) 8m,North-East (2) 14 m, East

(3) 8 m, South (4) 10 m, South-Fast
B dranotl, A drowodd agoed 3 el drdos®
aol. C drawodl, B rowots § H8 s 3 Hobl
drtod® gob. D Jvawots C SronoSs B8 6
WG drBod® aod. E ZowoeS, D owo §
&8s 11 b Eros® dof. FavodS E,
Frovod B 8 do ¥% érdod®, D BEE aab?
(1) 8, &S0 (2) 14, 8r8y

(3) 8%, 88wo 4 10 &, eRyaho

Following question is based on the table given
below, which gives the sales of Supermarkets
from 20135-16 to 2020-21.
Bob @Yy 2015-16 ool 2020-21 3% DO
&b Srgyfe wdsreih 500D Bob HBED
wrtdtach.

Sales ol Supermarkets (in Rupees Crores)

JPHE SrBr b @ sren (FhSh

Year/
noddabo

201516

_ Supermarken/ 3r08 SrTpey
Prasanthi/| Krishna/ Mnheslu'1 Ramya/| Suguna/
Brod | 8% | SirE | 88 | Zotow

400 280 3 | 470 320

201617

480 400 400 310 480

2017-18

540 420 580 680 420

2018-19

770 480 600 | 720 440

2019-20

560 300 840 | 900 630

2020-21

850 730 790 | 920 700

61.

In the year 2017-18, what is the approximatc
share of Mahesh Supermarket out of the total
sales of all the Supermarkets? '

2017-18 Sod&yBod®, &) &rab SrgSe Ingo
edoedt HTrh N 58 e DErkr
wod g*do ?

(1 22%
(3) 23%

19%
21%

(2)
4)

What will be the next letter in the following
series ?

& 800 F3¢® Stvard 53, wgS0 06 7
Z.X.S. LR, R G,?

() 1
(3) M

(2) H
@) K

17
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62,

Study the following graph pertaining to sales
percentage of Branded and Assembled PCs
sold during 2015 to 2021 and answer the
question given below.

Total PCs (Brandcd and Assembled together)
sold in the year 2015 was 2,00,000 and total
sales of computers were increased at the rate of
10 %o per every year.

Bob (D Hbod® 2015 Lol 2021 L85 el
ot IGRE BodrioR, wdomd DEHS
Boagrgef misee ecared egrdorr 380 @od
P SSrerdo abiod.

2015 %oSE)50S° ©luyd Erodl $8)36 Soirty,
vhomd JIE Sorwd Iwdo eFo
2,00,000. Ao Sorpld wknysed® 58 S0 o
10% SP&pi Btbiie dob.

il
0
0
S0
a0
I
0
10

=% Branded PCs
eroB@s b

B Assembled PCs
-'R}Dmﬁ bh

2015 2016 2017 2018 2019 2020 202]
Year/ dodd 00

Ilow many Branded PCs were sold in the year
2016 2 3 -
2016 Sossyos® IRy groBl HEHS Soigrd
sdyotron ?
(1) 72,000
(3) 78,000

(2) 80,000
(4) 88,000

Each letter of the alphabet from Z, Y, X .... C, B,
A arc given values from 1, 2, 3..... 24, 25, 26
respectively, What is the total value (summation
of corresponding valucs) of the word "ANIMAL
SCIENCE" ?

Z,Y, X ... C, B, A& 58 w¥odd Edore
R T . 24, 25, 26 Dendos wdbd
“ANIMAL SCIENCE” &3 %5to s, ando
e (Sowdd Jevde Indo) Jod ?

(1) 243 (2) 108
(3) 208 4) 143

[Eg

Ik

@)
T
(m]
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64.  Raviis a son of Anitha’s father’s sister. Sumanth | 66.

is the son of Divya, who is the mother of
Ghanshyam and grandmother of Anitha.
Sumanth is Anitha’s father. Ashok is grandfather
of Ravi. Divya is the wife of Ashok. How is Ravi
related to Ghanshyam ?

(1) Grandson / '(EJ Nephew

(3) Cousin (4) Son

63, =8 oY) Jof QwE) BEO HIRGHD.
Do g, 8D, 0 e
S0y /TPy wow By G, T ok,
D08, BNEH Sold, o5, 58 ordddy, B
o35 2r;. 82, D3 B DHHEH ?

(1) oxshts
(3) 528

@2) Sded
@) b

65.  Study the Bar Chart given below to answer the
question,

Sale of the products of three different brands
in five (2001-2005) different years (in Lakh

pieces) 68.

Bob erb i SO8D0D By SSPTEHo Bl .
0t KoSEorEE (2001-2005) St Bsve grold
SomaBodis Sigige sl (S0 ofe)

COsoB MDD PLIKE

35
30—
25

20—

10 - —

2001 2002 2003 2004 2005

LIKE from 2001 to 2002 and decrease of sales of
BOB from 2003 to 20047

l
|
|
l
|
|
What is the ratio between increase of sales of i
2001 ol 2002 £5% LIKE wiiyse dibde, ’
2003 of 2004 5% BOB sinswe bz |
ot e Dy Dok ? |
(1) 2:3 @ 1:2 |
G) 3:2 @ 2:1 <

1 ~ .
+ : < 18
a2 '

67,

Identify the wrong fraction in the following
series :

80B @3S SHpre &y DamyR, vBotold

16 22
(1) i (2) E
7 12
3) 13 (4) 23

In a code language, “R” = 6, “x” = § and
"PHYSICS” = 33. In the samc¢ code language,
“PSYCHOLOGY™ will equal to ...

o8 S8 g “R” = 6, "x” = 8§ 28d%»
“PHYSICS” = 33 wmond of S8 o588
“PSYCHOLOGY” Dens...

(1) 48.33 (2) 49.33
(3) 47.33 (4) 46.33

At what time between 7 and 8§ o’clock will the
hands of a clock bee in the same straight line but,
not together ?

(1) SI—JI- minutes past 7

(2) 3 min. past 7

5
(3) 577 minutes past 7

,,
(4) 577 minutes past 7

w8 HAdr80d® 7 Kotew, 8 Hoted o Sod
Smthen 2.8 0P 258 Some, J6¢ B I

aotron ?

(1) 7Hobe 513_1 DDipen

(2) 7riote 5 Sbdpen
_ 5
(3) 7ot 57 R%e

2
(4) 7rowe ST HaRbares



69.

70.

71.

A, B, C, D, E and F are six members in a family
in which there are two married couples. A is the
brother of B and uncle of F. F is the only child of
D. C is the mother-in-law of D. C has one son
and one daughter. E is the husband of F.Which
of the following denotes male members in the
family ?

A, B, C, D, E 50ct F of athibdh &% Ko es
inonod® Soth Darlrd mobes damycw. *A’, BS
Hosthth, Hbdn FH e/ ereron. ‘F7,D8
538 Sooedo. 'O DE wgreth. C8 2.8 i, &5
%ir3 aayth. ‘E', Po 28, Sod 288 dbe
Sinonod® Hir Hihok Er0eb?

(1) DEB (2) ADE

(3) DEC (4) ABD

In a certain code language,

(i) ‘pit nasa’ means ‘you are welcome’

(ii) ‘naho pa la’ means ‘they are very good’

(iii) ‘ka dala’ means ‘who is good’

(iv) ‘od ho pit la’ means ‘they welcome good
people’

Which of the following means ‘people’ in that

code language 7

o B et

(i) ‘pitnasa’ wol ‘cin b Jeyw’

(i) *naho pala’ wod ‘B b 38 HE

(i) ‘kadala’ @od] ‘& ek OB’

(iv) ‘od ho pit 1a’ w0l ‘B ey, o 1ok b%é

& Bob 86° 53S'8 v € wrid® 509 Hdo

2617

(1) ho

(3) pit

(2) od
(4) la

If *M" denotes ‘/'; ‘K’ denotes ‘=’ ; ‘R’ denotes
“+' and ‘T" denotes ‘x’, then 12T8MI2R 16
Kld4=?

X3¢ MO e (KD e 'RA Y TR

W e, S OheRpt 12 TEMI2R 16K 14 =1

(1) 10 (2) 48
{3) 20 4 38

i T2,

|
!
1
]
|
|
|

|
|
|
|
|
|
|
|
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73.

74.

What is the term in the place of ‘?" in the
following series ?

808 zSwdd @B’ 7 5:?&066 dotHobd Hfo

287

AYD, BVF, DRH, 7, KGL

(1) GLJ (2) GMJ
(3) HLK @) FMI

From the four positions of a dice given.below,
find the colour which is opposite'to Red ?

wllon range, Blue Red /7
g f 5 F
Orange | @ Vioks | & Red |2 Rose | 2
(1) Violet ﬁ&’ibrangc
(3) Roset/ (4)/ Blue

Bolts sXels ol I8 GwE), eard FohdHod
o TR DD wdingorr & Yorbib
B0l 7

Do ) Seo Qs
g 3 3 2

saon|a) | aeor Sy | vad | roerdy |7

(1) esze (2) ~rbo=

(3) b 4) Heo

Bhushan starts from his house towards west.
After walking a distance of 24 meters, he turned
towards right and walked 20 meters. He then
turned left and moving a distance of 10 meters,
turned to his left again and walked 30 meters. He
now turns to the left and walks 10 meters. What
is the shortest distance between the current
position and his house (in meters) ?

GRS 8% w0 Hod IEHE 33 wadenBovd.
24 Eest Grdo HADD Sos B85, F% HAIFHE
86h 20 el S, dovgd, eddH HHFHH
son 10 Do 80, Hbo JHZPH 80N
30 o008 BT, B, ©EH JHIJH 80A
10 Sveath SEaecd. w85 "85 wod Hold, sptd
&35 308 Jod $Y B’ ammytd (bedd’) ?
(1) 44 (2) 26

(3) 24 ()34

o
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75.  Eight people are sitting in two parallel rows i 76.

containing four people each, in such a way that

there is an equal distance between adjacent
persons. In row-1, Asha, Bheem, Chelsi and
Deep are seated (but not necessarily in the same
order) and all of them are facing South. In row-2,
Preet, Qureshi, Raunit and Sana are seated (but
not necessarily in the same order) and all of them
are facing North. Therefore, in the given seating
arrangement each member seated in a row faces
another member of the other row. Raunit sits
second to left of the person who faces Asha.
Sana is an immediate neighbour of Raunit. Qnly
one person sits between Asha and Deep. One of
the immediate neighbours of Chelsi faces I
Qureshi. Bheem does not sit at any of the
extreme ends of the line. Who amongst the
following faces Bheem ?

(1) Raunit (2) Preet

(3) Sana (4) Qureshi

DB ood Hen, Both Jirodl SHNE® .54

SEisE Seordd THPS BEUSES 6% Sghe 2%
SEPS  Grlo  Achtyrt  Sronh.  So88
shidter, 5, Bh), 85 o (a8 Edod®
wdowr) Gimo 3P drdr SrdHE®. Tokd
SRS, wih, A8, 5 o (a8 Eod
shone ) ddbo 3 dede Setpnant. & Difore ]
Both 3DPed® ErHF) IHed®, of IHHst
Erdyd) B8 S8 Soid SEIE® Brdn®) N6° ek i
988 oldvporr Sl k. erd wddoporr
ody B88, MH @G5 o8 os® THE
Erdo Ty, TROE% $a (58)3 Wrthy08. o, 85 o |
o 08 S8 SrEd Lo 30 8 653
ahIDe &) ac‘é&é‘ edth ohE odlvporr
ayth. §5 D 08 036 grehiEm. 8ob ost

5% oDSmporT 5% ATy ? I
(1) Taé (2) &6 |
3) ¥ @ & |

L TS 20
P10

The symbols a, f, #, = and < are used with the
following meanings :

R a § implies that R is greater than S,

R 'S implies that R is lesser than S,

R # S implies that R is equal 1o S.

R = S implies that R is either greater than or
equal to S,

R @ S implies that R is either lesser than or equal
to S.

Based on the above statements, answer the
following :

Statements ;

MaNOfM,MwP

Conclusions :
l. M=xP
. Ofp

(1) Both the conclusions are true,

(2) Conclusion | is true but 11 is false.

(3) MWeither I nor II is true.

{(4) Conclusion 11 is true but I is false.

a, f, #, =0 o3 Sogen o 808 wrl) 50A daryon.

R a S&dD R,S o8 DGO o Sedigod.
R 'S &3 R,S Eo8 93,6 03 5rdidob.
R#S®i8 R, S % &drdo e &rdkob.

R« S &30 R, S S0d) 50 o dardo o

é&

i Dnoh.

R © S ©db R, S 508 256 o v&rso @
AP000.

29 DT PEiSe ecrborr, Bod ol KSrrrdo
235108,

DSt ;

MaNOfM MwP
o gto

. MxP
I. OfP
(1) L 11 8o yren Sotisr $Em.

(2) Bovybo 188550 590 11 wddsim,
(3) L 11 8o ;7men Bolir obd;5m.
(4) Boegso 11 B85 =8 o,
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78.

79.

If the letters in the word DOCUMENTATION
are rearranged in English alphabetical order,
which of the following letters is in the middle in
order after rearrangement ?

DOCUMENTATION &3 $8506°R efore, sof
w55 Eod® w83, s @0 & dot St eEbo
W ?
() O
3 T

2 M
(4) N

Read the following two statements carefully and
selcet the right conclusion, which follows the |
statements.

Statements : A0 I
i.  All pens are Buses. ¢

ii. Some Buses are jeeps.

Conclusions :

I.  All jeeps are pens.

I.  Some pens are jeeps.

(1) Both conclusions I and 1l follow.

(2) Only conclusion I follows,

(3) Neither conclusion I nor I follows,

(4) Only conclusion II follows.

Sob = Coh GEbNel eefiEgmre G069,
SEoded @diibod ab) {83 Som e $Pdol.
EEeden :

L @) Scrw oien.

i, 50 adyen dipen.

by

I el &b Sore.

1L 0 Seren #pen.

(1) &ooymeen 1, 11 &0 Bolh ©XHBPOD.

(2) 8o | e 05N 08.

(3) Borgren 1, 1 en Both ©500.

4) &ooso 1 SrEa ods6iod. ]

In the following question, there is some l
relationship between the two terms to the left
of :: and the same relationship holds between the
two terms to the right of ::. Find out the missing
term in place of *?". l
S0t aippls HEE° 0 8 D BES 6% Bod
Soret et an;a_fﬁua}ofﬁu a0d. 11 5 B HE5HS 6y
ot Stre Erre ©f N0 dowogo @od ‘Y
Apod® Aotrdyd HFN HER SHSs.

MOUSE : KPSTC : : LIGHT : ?
(1) JEIR (2) MGHFU
(3) MIHIU (4) JGEFR
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80.

81.

In a non-leap year, if Republic day of India is
celebrated on Wednesday, on which weekday
Mahatma Gandhi's birthday will be celebrated in
the same year ?

(1) Monday (2} Sunday

(3) Friday (4) Saturday

0% Joddo =D HoddGoslrdd Hmdod
BFS 0 ‘T80’ uhdhold, ©d Sossses’
Sodfee; rol sabodd O Bed athbotrd ?

(1) Sardo (2) s&ardo

(3) HErto (4) #Rardo

A statement followed by two assumptions A and
B are given below. An assumption is ‘something
supposed or taken for granted, i.c. a fact that can
be accepted as true on considering the contents
of the given statement.’ You are required to
assess the given statement and decide which of
the given assumption(s) is/are implicit in the
statement and choose the appropriate option.
Statement : Transfer of Employees within the
state should be taken up for every threeyears.
Assumptions:

A: Transfer is one of the best tools available
for controlling the employees.

B: Employees overstayed may involve in the
corruption.

(1) Both Assumptions A and B are implicit.

(2) Only Assumption A is implicit.

(3) Neither Assumption A nor Assumption B is
implicit.

(4) Only Assumption B is implicit.

Bob HHO° &8 PILI, Sod PII AJLTT.

2 D508 DoOorRd ANGrK HEr Jererr

FDODN wofPerD ROk ﬁ:ﬁ‘&éa‘nﬁa‘)h. adyd

EEesH  S08D0D, PE6S Dahmdd D

PS8 /pSten S mar hBodod.

BELS ;18 K BoSEoroh e 38 ooHod D

a&o0nbbRdirD.

graden

A: affgbol Qdbodoiito 8% 26D ede
wotherind® &) e KB,

B: J%y% oo a8 @ados® 3030 esiyow
©2HBS oyl wscr¥o dob.

(1) A, BenTotir a‘g)oiﬁwt;:un.

(2) ASr@dordosadod.

(3) A,BenBotrerdodalsts.

(4) B Sr3d erdoSodod.

[ 6
P10}




82,

Consider the following in relation to the India’s
longest Rubber Dam inaugurated in September
2022

This dam is known as ‘Gayaji Dam?”,

Itis on the Falgu River.

Falgu River is in Odisha

Experts from IIT (Roorkee) were involved

with this project,

E.  Shri Gajendra Singh Shekhawat, Minister
of Jal Shakti inaugurated this Dam,

Choose the correct answer :

)} A,B&Donly (2) A, B & Conly

©G) B,D&Eonly (4) 4 B, C & E only

dyoatd 2022 & BrE000SnaS TBEREDH ©b

PEIS Sapo DS Howofod Bod ED

BOrdoSal:

A SR ‘Koied T’ @0t

ab Pep 363 dob.

Pep¥b 286t aop.

& @r56° vod (58; ) Demen TG,

2088 D08 § Kdogs Hof R Ss & T

ooy,

NOS B2 DoHE Sy ;

(1) A,B&D smgd,

(2) A, B & CSmgd

() B, D & E simesch

(4) A, B,C&ESrgd,

Scientists are now fine-tuning their research to

make a presentation for the Geographical

Indications (GI) registration of “Kai Chutney"”

under food category. Kaj Chutney belongs to

which of the following region 2

(1) Karnataka’s Gulbarga

(2) Maharashtra's Hingoli

(3) Odisha’s Mayurbhanj

(4) Tamil Nadu's Chengalpattu

B Sorore Ssvedt e S8 0 FRIQE S0

(GD) m 33~ Bdabeo &%0 TE3den 30

ST ©8 Dihrpes 05 o, s gy

€800 865 D Froarga BodS6 ?

() Some8e®a ey

(2) Do Fosty trofte

() 2.82re*d Soctmt,o

() 82eTostd Bofemyew

OOowpx

moow

l 84.

|
|

|
l
|
i
|
i
|
|
l
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85.

Consider the following in relation 1o the Internet

and Mobile Association of India (IAMAI)'s

report “Internet India” rejeased in July, 2022 -

A. Around 346 million Indians are engaged in

online transactions,

The number of digital transactions

are greater than that of the US,

The number of female internet users are more

than male users,

Social-media, entertainment and

communications are the top threc activitjes,

E. The report estimates that there will be 909
million internet users in India by 2025.

Choose the correct answer :

(1) A\B,D& Eonly 2) A.B.C& D only

3) B,C&E only @ ACD&E only

2v8  20226° Dibse Sng R0LTS, 2PS

OPRERT 85  molaie (IAMAD) adag

“2008y¢5 Boldir" & SoBofod & Lab pds)

H0HBoSod .

A rorl 346 WOADY erdhoivey ©f a5
oD Dor AT,

B. 88 3508 2 PTED0 Howy aRBE
26 508 25 65,8,

C. 8o %ol Hepge 2oL DK
RBomy DS,

D. Fad-dndase, oo, SR80 ety _
BTPS Y erdey. e

E. 2025 588 grgsdsost 900 DOADF BotTys
N SHe dotrsd Diaz ©oST 3o,

B e QoSHE sy ;

(1) A, B, D & Esimgd (2) A, B,C& D srgd

()B.C&E 33 (4) A, C, D & E Sresh

Which of the following were associated with

celebration of ‘Azadi Ka Amrit Mahotsay® 2

A. Aage Badho B. Jan Bhagidari

C. JaiHo Tiranga D, Har Ghar Tiranga

E. Badhe Chalo

Choose the correct answer :

(1) A, C & D only (@) AB,C,D&E

(3) BD&E only (4) AB&E only

€1 808 85° ‘wars 5o ©E0)8 DiF )5’ 6%)%068

Soaodo 63) ®odven DY 7

A o8 B. aSgrAms C. 35 akome

D. &5 06 85om E. a8 g5

RS 2o J0 S8 sy,

(1) A, C&Dsngd (2) A,B,CCD&E

(3) B,D & ESresidh (4) A, B & E S

in India

B.
C.
D,




86.

87.
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Consider the following in relation to the Indian

companies in Fortune 500 List in 2022 :

A. A total of nine Indian companies have
cntered the list.

B. Five of them are private sector and four
were slate-owned firms.

C. Life Insurance Corporation of India (LIC)
entered for the first time.

D. Reliance Industries and Tata Group are I
among the private firms.

E. ONGC and BPCL are among the public |
sector firms. I

Choose the correct answer: I

(1) B,C&Eonly (2) A, B,C&Donly

(3) A,.B&Donly (4) A, C,D&Eonly

2022 FEeS 500 @D’ grdd Hodled

HSo2obod & 8uh 80 Hordotod:

A & erlors® Indo & rEboh Sonde
PIsocraw.

B. 8¢ nth pien SoKo, wevid Hehis SoK
RODEN.

C. wo8 408 b %o (LIC) widFd
©380000.

D. BouddS)s0if, trer (D e RS Soged®
_Evgilent

E. ONGC, BPCL & @48y Sori Sogest
W00,

88 esarenid. HothE Koam:

() B,C&ESrsd N

(2) A, B,C& D&egdh

(3) A, B&DSrEd

(4) A, C,D & E frgEeh

Consider the following Padma Bhushan I

Awardees of 2022. Which one of the pairs is I

NOT matched correctly ? |

(1) Krishna Ella and Suchitra Ella : Medicine

(2) Victor Banerjee : Art !

(3) Cyrus Poonawalla : Trade and Industry i

(4) Ghulam Nabi Azad : Public Affairs !

2022 &5, tried ol Herdo H8NdoSol. &

808 mied® SO 2dS8S0E0 DH? ]

(1) 5,3z, DG e : 3850 }

(2) D8N0 8¢ }

(3) PRI ardeso, BOEDe ]

@) ero 3D eeb : e Sy5iForen |
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§8.

89.

Arrange the following countrics from the highest
to lowest, based on their total medals tally at the
Commonwealth Games 2022 :

A. Canada B. England C. Australia
D. New Zealand E. India

R 3 A%y 20226° =% ADDD Ido Hgsre
Somy, agrdore, & S0b Sereih ArHd Kol B8
3:03:-& witol:

A. Bl B. sorrold
D. &rsdercl E. 3ro38d0
Choose the correct answer:
05 anranih JohE b
(1) A,C,BED (2) B,C.A,D,E
(3) B,ACDE 4 CB,AED

C. sk

What is "Exercise VINBAX 2022" 7

A. It is the 3% edition of Vietnam-India
bilateral army drill.

B. It is held at the Dalhousie Cantonment,
Himachal Pradesh.

C. It is held at the Chandi Mandir Military
Station, Haryana.

D. The last such drill was held in Vietnam in
2019.

E. The Exercise was focused on deployment

of army engincers and medical teams in
United Nations peacekeeping operations.

Choose the correct answer:

(1) AAB&Donly (2) AAB,C.D&ELC

{(3) C&Donly (4) A, C,D &E only

“Damy§) Bard 20227 ol D ?

A. 3B Jabeny0-Bobdir GyarSs RS S 3%
QBHS.

B. =& irirmsS @0 6°0 dTD gos’omet

=laTalelaR

C. =B droyme & Sod Hob6 DD HHHSE®
=Bhof.

D. D568 20196° Ddbem 08 merod S
=talalalal

E. oforebld oob 6858 shScdros
w8, zodl, 3t oyorreih Irirlodtiod &
gareh Gy *botob.

BB aTrai QoSBT KoD:

(N A,B&Dar@d (2) A,B,C,D&E

(3) C&DERED  (4) A, C, D& Efrgd

o +
Eﬁi}




90.

91.

92.

+

Which of the following are the new Mandals declared I 93.

by the Government of Telangana in July, 2022 ?
A. Gundumal in Narayanpet

B. Gangadhara in Karimnagar I
C. Dudyal in Vikarabad D. Zaffargadh in Jangoan
E. Saloora in Nizamabad I
Choose the correct answer :

(1) A,C&Eonly (2) A.B,C&Donly
(3) B,D&Eonly (4) A, C&Donly

& So0b o86° Boorrm HebE and 2022 &

i (88008 shoteren 2D ?

A. TTEDRHL 6 HoHErS

B. 880546 &9 Koiord C. DsvorerE &80 doewgds
D. &5 20 a8 8 E. Qeriloezrd 5D et
{TR aarasi JodhE s

() A,CEXE&mgd (2) A, B, C&D&rgd
(3) B,D& E&mgfah  (4) A, C & Ddmgad

Which one of the following countries launched
gold coins named “Mosi-oa-Tunya” in a bid to
control the inflation ?

(1) Zimbabwe (2) Russia

(3) Srilanka (4) Pakistan
EFseyerd) dcbo@od [abd 6t & Sod 88t D
340 "Ard 2.0 - HTy" ©F DOMPH TErod DK
Ehob ?

(1) Bozrd: (2) gary (3) ool (4) rEPR
Mexican ]ércsidcni Andres Manuel Lopez
Obrador has proposed a three-men commission
for global peace to the United WNations
Organization, comprising of the following:

A. Ukraine President Volodymyr Zelensky

B. Indian Prime Minister Narendra Modi

C. South African President Cyril Ramaphosa

D. UN Secretary-General Antonio Guterres

E. Pope Francis

Choose the correct answer :

(1) B,D & Eonly (2) A,B&Donly

(3) B,C& Donly (4) A,C&Eonly
28E ofiHth woEh S Fd eprth
@i 08 %0 & Bob Korbdh Sgke SHUT X
0E;Oray; 088 BHEIH0TE:

|
!
i
|
|
. 480 ol 3&3&7‘5 EEE"‘C)J& i
|
|
|
|
|
|

A
B. griis Hprdsod Stos 3mé

C. G e ofiEid NS ;pHPrS

D. 05075008 BBbE eids wols AR 988t
E. 505

NB8 warmd JoSE 0N :

(1) B,D&E&Srdd (2) A, B & D Srgd

(3) B, C&D&e@d (4) A, C & E sivgiad

=
5}
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Which of the following hospital gets ‘Kayakalpa
Award-2021" by securing first place in the area
hospitals category from the Union Ministry of
Health ?

(1) Narayanpet Hospital

(2) Vemulawada Hospital

(3) Madhira Hospital

(4) Jinnaram Hospital

& 208 Sovgrrredt DBdr whdghe ILADS

2B Fos® DDD Sog eGPy HoBis &+ ol
‘suble) ear-2021 D PobH D67

(1) oedbebe Sargrar

(2) Sl Sarerar

(3) &I Sargrae

(4) aobo targear

Malavath Poorna is a well-known mountaineer of
Telangana. She successfully climbed which of
the following mountain peak in June, 2022 ?

(1) Mount Kilimanjaro, the highest mountain
peak in Africa

(2) Mount Akina, the highest mountain peak in
Japan

(3) Mount Elbrus, the highest peak in Russia

(4) Mount Denali, the highest mountain peak of
North America

$erB8 Ty Boorree SoBS PhY H5;5°E e,

oD =~8 2022 &° & 80B HES Bworos® TAN

Smchbosorr b8 roNof?

(1) &Fol 8Doert’, whs &0 wdod 289
23 Bwdo i

(2) oS ed, adl 6'0 edpd J83 358
dpBo -

(3) oS Jopd, B el I i DB
i atal }

(4) #PofS 3D, 88 oD &5 wlod I35
5858 Bado )
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Which of the following statements about Dr. K.
Keshavulu from Telangana are correct ?

A. He is the Managing Director of Telangana
Statc Sced Development Corporation (TSSDC).
B. He is the Director of Telangana State Seed
Organic Certification Authority (TSSOCA).

C. He has been elected as the President of
International Seed Testing Association (ISTA).
D. He is the first from any Asian country to
hold one of the top executive posts in ISTA.

E. He is a native of earstwhile Mahbubnagar
District.

Choose the correct answer:

(1) B,C&Donly (2) A,B,C&Donly
(3) A,B&Eonly (4) A, C.D&Eonly
Boorre Bobd . 8. 3¥Hw KBS Sob

803 OB $BHO?

A, wE% Buorree g DS DB ODAI
(TSSDC) &320R 2356.

B. =8 Bworrme o D88 Dodbdh &D88e
oo (TSSOCA) 5356.

C. aéd wodpdad D% ©0Y Rogvo (ISTA)
OHAm B,

D. o5& deo Dol ISTA & o8 mdéHd

SERTEPE HENS® 65 I0KS 58,
E.  afib it SiranSSs aep oo,
N0 e QothS i

(1) B,C&D&rgd (2) A, B, C & D &g

(3) A,B&E&r@d (4) A, C, D& ESrSd

“Gandhari Vanam” got renovated recently under

Telanganaku Haritha Haram Programme and

developed into a tourist attraction. Where is it

located ?

(1) Bokkalaguna, = Mandamarri
Manchiryal District

(2) Chintamanipatnam, Tandur Mandal of
Vikarabad District

(3) Gangadhara Mandal, Karimnagar District

(4) Keesara Mandal, Medchal-Malkajgiri District

‘ol SN Beorrek 0E Fdo seUggiho

Bor afte HIGEBoSLE, Bl elnm

0D, Tabadoh. sb G ayB?

(1) &5 on, Dot doteo, Soloed Bee.

(2) Doerdbbye, aralird Hodvo, dsoerd
ger.

(3) rroNErY Motivo, Ebonnb Eer.

(4) &8 sooiteo, Hoi§)S -Hoomyd AB Bep.

Mandal,

25

. — —— . e e e .
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99.

The official mandate of the IMF includes :

To promote international monetary cooperation.
To promote exchange stability.

To eliminate foreign exchange restrictions.
To provide long-term loans for the projects.
To facilitate the expansion and balanced
growth of international trade.

Choose the correct answer:

(1) C,D&Eenly (2) A,B&Donly

(3) ABC,D&E (4 A,B,C&Eonly

mOOE>

TMF w8508 sidaren /o ggen:

A, woSTREGH 3 Sieren) @ dtrosto.

B. &% R8arsRy @8 krosto.

C. 208 &rdy i H0ddhed Sofodto.

D. @aged bEsDs e asdo.

E. wodghdd oday Dgbn, $&o; 9,890

Heglsto dabto.
H3% marad o Hde:
(1) C.D&KES»Sd (2) A,B&DSmgdD
(3) A.B.C,D&FE (4) A,B,C&E&rgd
Which of the following was caring for the wounded
soldiers on the battlefield, and was later amended to
cover warfare at sea and prisoners of war ?
(1) Geneva Conventions
(2) Rome Protocols
(3) London Protocols

{4) Nuremburg Conventions
& Scb OE O @hgor oy Urnd®

mAHES pUBo JobinD agtosnl, SHT8
soos® Sing dntio, uhnt Phe varui Dok
5580 Schadod 7

(1) Bd=r5358, 2) &S st

(3) ooul e'sedy (4) LrBowb 838N,
Which of the following countrics formed the

group known as BASIC ?

(1) Brazil, Argentina, South Africa, India and
Canada

(2) Afghanistan, South Africa, India and
Columbia

(3) Brazil, Argentina, South Africa, India and
Chile

(4) Brazil, South Africa, India and China
& Bod dSt ZHE (BASIC) deven wd buded

HEamEER), Domytn SRSD DD?

(1) @45, w3oder, B8 sps, rbsddo, 35w
(2) ﬁ%"&ﬁ_gs. 58 v, rEstEo, Swoddir
(3) 826, wBoder, B8 v, E8d¥o, Db
@) @as, tir sds, grdsddo, B

+*

u‘
WA=




100. Match the following UN Secretary Generals | 101

(present/past)with their respective countrics :
Secretary General Country

A. Javier Perez de 1. Egypt

Cuellar
‘ B. Boutros-Boutros Ghali 2. Portugal
' C. Kofi Annan 3. South Korea
} D. Ban Ki-Moon 4, Peru
E. Antonio Guierres 5. Ghana
6. France t

& BoB c&Tagme Eed wsed ob |

(53598 /1548 )owD Dhrerd® wBHE o0 :
2ELE 35S d¥o

A #Dap62058%e6 1. &ef

B. m@S-o@Smd 2. RS

C. sHeys 3. G Sode
D. =ro8drR 4, DO
E. oot adm g 5 doar

6. %

W
’. Choose the correct answer :

j KBS RO HE D |

——— ————

(1) A-2;B-1;C-3; D-5; E-4
(2) A-6;B-5;C-4; D-1;E-2 |

(3) A-2; B-4;C-1; D-3;E-6

(4) A<4;B-1;C-5;D-3; E-2 |

'I'. i 26

T

Match the following UN Conventions with their
respective subjects :
Convention Subject
A. Convention on the 1. Law of the Seas
Prevention and
Punishment of the
Crime of Genocide.
B. Convention on the 2. Disarmament
Reduction of
Statelessness.

C. Convention on the 3. Human Rights
Continental Shelf.

D. Convention on Cluster 4. Health &

Munitions. Environment
5. Refugees
& Bob p¥orey S8 E3IIH ;E Sowodhd
DEOTOE® dBEEHIm :
ERgE8 Dxabo
A, epBBOE IS I Sdogidepen,
D>, g0
¥3530.
B. oralirédo 2. doecindste,
ShoSEoP EI59S.

C. worrdeop3gES. 3. SrisdEye
D. ©BcEIHAR 4 &850,
€338 SOPsB60
5. dorden
Choose the correct answer :
B earenid JOHE R0N:

(1) A-3;B-5,C-1;D-2
(2) A-5;B-3;C-4;D-2
(3) A-3;B-2;C-5;D-4
(4) A-4;B-2;C-5;D-1




102. What is the implication for India of ratifying the

‘Additional Protocol’ with the International
Atomic Energy Agency (IAEA) ?

(1) India gets access to import of uranium from
the Nuclear Supplier Group countries.

The Indian civilian nuclear power
establishments come under 1AEA
safeguards.

India gets permission to import nuclear
weapons technology from nuclear weapon
countries,

India gets access to nuclear technology
trade with the Nuclear Supplier Group |
countries.

wostrBdb wm @0 S0 (IAEA) & pssddo
WSy PSS sIrdosSdo Jo GES
08mSN DX 7

(1) 3rBaf &PZa®b W dere  Mod
TUSETIS cwdiche BIDHBE oo
Senibdood.

PSS T8 et BolS Sofer ®.D2D.
$BGKee HBOHSE®S S aw.

©rPyang BEro0s OuPaing JodBSEw
B8 DOTHENE PESEelE wbhed
odgob.

8008 KBadE i Beres® 88t
a0 FoRRY a8 oo Pothiod.

2
3

G

(2

3)

(4)

103. Which of the following are considered as the

major coral reef areas of India ? f

A. Guifof Mannar B. Gulfof Trombe

C. Lakshadweep D. Gulf of Kachchh

Choose the correct answer ;

(1) A, C&Donly (2) A,B&Conly
(3) B,C&Donly (4) A,B&D only

& 8ob 8BS DD EEBED Sord I,

@roarenrr 30K oo eran 7

A K eh b B. rAdysd Erod
C. ofhs D. #5yshHEs
$B% w0 JoHE % ;

(1) A,C&D&srgd

(2) A.B& Cs5mgssdh

(3) B,C& D &rgd

(4) A,B& D Smsdh

e . — e ————— — — — ——

[ ]
~3
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105,
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=
b

India recorded the highest number of Tiger

deaths in 2021, Consider the following in

relation to this ;

A. Atotal of 127 Tigers died.

B.  Gujarat ranks first in this fatality.

C. Madhya Pradesh ranks first in this fatality.

D. Maharashtra and Karnataka occupy second
and third position respectively.

Choosc the correct answer ;

(1) A&DBonly (2) A,B&Donly

(3) B&Donly (4) A,C&Donly

PEEEE 08" 202155 ;6% Somgs Sheve dotfeFen

SdrBrean. B8 Soachon HiBob oD 50rSobhen :

A. Zwdo 127 even Sodooran.

& DEEPod® HeTed Enit Ko’ dob.

& Hbepod® i HNE Insd :}:760 sSeroh.

a’»;&ﬁmg, é.u;e:é DI oy, Surds

PTos aTon.

RPN exarena) oths M ;

(1) A&B&mgd  (2) A B&DIrmgd

(3) B&DSmSD (4) A C&DSrgd

“Talanoa Dialogue” is related to :

(1) The G-20 countries talks on technology transfer

(2) The UN talks on debt relief to the Least
Developed Countries
3)

The WHO talks on finding origins of
Covid-19 pandemic

(4) The UN Climate Change Talks

“BoTe e A28 So00b0058:

(1) o883 DBerso &r8,8p 8-208w0 St

(2) 8d =50 TobS Devo the JdwEp

oEioraded SEen

E08-19  Irsrd

('583.}:5. . . 2‘55353

(4) et srtyn o¥oressihd 56w

Arrange the following States based on highest to
lowest death toll recorded on account of
Thunderstorms and Lightening events in 2021 :
A. Bihar B. Madhya Pradesh C. Odisha
D. West Bengal E. Rajasthan

B.
C.
D.

(3) 30883

By

[ ]
£
H
"

20218° a%doew, DHHe DHbde Sdsmore

$3rgd e Son; ertore & Sobd G‘*g‘?u;ﬁ) :
05%0 S0l o0 BHtE: o
A, D8 B. 25@d€ C. abd

D. %88 BorrS L. u'a:s?gE

Choose the correct answer :

H88 a0 JohE i |

(1) D,B,C,E A 2) B,A,D,EC

(3) AE,C,B,D (4y C,B,A.D.E

+

[m]

-

—_—
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108.

Match the following Cyclones of 2021 with their ’
intensity :
Cyclone Intensity
A. GULAB 1. Very Severe Cyclonic
Storm l
B. YAAS 2. Severe Cyclonic Storm
C. TAUKTAE 3. Cyclonic Storm I
D. SHAHEEN 4. Lowest Cyclonic |
Storm I
5. Extremely Severe
Cyclonic Storm l
20216° [Bogfdods & Bod EdrHedn -6
§3808° wsd5SHw:
Hdroen 858 ]
A, bed . 88 ps*ukadrd ;
B. &l 2. B 2808 i
C. % 3. B
D. %8 4. ©8805pEELTG |
5. 88 &3 pESRE o |
Choose the correct answer : |
P88 eraid dothEsn: I
(1) A4;B-3;C-1;D-2 (2) A-5;B-2;C4;D-3 ;
(3) A-3;B-1;C-5;D-2 (4) A-2; B-5;C-4; D-1 |
Match the following Corona Virus variants with |
their originating country :
Variant Country of Origin
A. Alpha 1. Brazil
B, Bela 2 United States
C. Delta 3. United Kingdom
D. Gamma 4. India
S South Africa
& Bob 56°% 68 Ssroid © 880008 dmes®
et
368 8o 835,0005 B¥o
A ery . @28 I
B. Her 2. o30E B, |
C. e 3. @Bk &of do ]
D. e 4. 8830 |
5. Sfmads |
Choose the correct answer :
H88 aaraid JohEHRn: I
(1) A-S; B-4;C-1,D-2 |
(2) A-3;B-5;C-4, D-1 )
(3) A-5B-4;C-2,D-3
(4) A-2;B-3;C4,D-5 {
10 28

109,

A

110,

Consider the following in relation to the literacy

rate in India :

A. Literacy rate of India at the time of
independence in 1947 was 12%.

B.  As per the 2011 Census the literacy rate in
India was 76%.

C. Compared to the adult literacy rate, youth
literacy rate was about 9% higher as per
2011 Census.

D.  As per the 2011 Census, literacy rate
among males was over 80%.

E. As per the 2011 Census, literacy rate
among females was 65.46%,

Choose the correct answer :

(1) A/C,D&Eonly (2) A,B& Conly

(3) B,D&Eonly (4) A,B,C&Donly

FBE0E0S® ofoid St Somobod & 20B

80 30rBoSad:
1947¢° Argogo SONGPD BEdY wFovs
Bew 12%.

- 2011 apr rirmomre SEebo S wiovd din

76%.

- 2011 aver Herosso @soo S@res oSoris

Bend® D0F choded ©ETRE Sko 9% 28y,

2011 e Aarosre Bordo HHHoE® oo

Bw 80% 2o w8,

- 201) awree Horoste BEeo Hirtos® oo

Bt 65,46%,

8B earenih Doth T Roin:

(1) A,C,D & E&mid3(2) A, B & C o8
(3)B.D&ESrmSd  (4) A, B,C & Drgd

Women won a greater number of seats in the
following state legislative assemblies when
compared to other states (as on 31* December,
2021). Arrange them in descending order based
on the number of seats women occupy in the
respective assemblies :

A. West Bengal B, Bihar C. Jharkhand

D. Chhattisgarh  E. Rajasthan

588 Toered PORVE (3183008 2021 E8) &
Sob oo @re TRNHTLSE” SlrHen Jy0 Sous® b
Nenarth. Somolé @'Eboé)vﬁﬁ Zodrlen Renihdy
R Bomy srrdore esB e Eho8® ok iy

A S5 Bored B. 8E  C. ool
D. $8% &8 E. oadk

Chaase the correct answer:

HBR ataranil Soth8Xndn:

(1) B;D;AE;C (2) D:A;CE;B
(3) A;C;B:D,E 4y CA;D;BE




111.  The *Make in India’' effort of Indian Railways | 114.  According to the Global Wealth Report 2021, the

112.

A13,

has culminated into India's :

(1) First semi high speed train Gatimaan
Express

(2) First semi high speed train Vande Bharat
Express

(3) First high speed train Rajdhani Express

(4) First high speed train Shatabdi Express

cb8cd oo ‘wrbBd¥odt dared (DS as

zobdir) 83t dveorne D05 pBstEs woddh

Jwdho:

(1) K8ErS O8) BB, BobBnsS 8o grhyE Ben

(2) Sodrss 25 @S, Antuse 2 zrhyE ge

(3) oresped 25y @S, BoerEntd 2MyE Beo

(4) dord 5 @R, SwbIwtd 8B Ben

As per the NITI Aayog’s Health Index Round IV
2019-20, which of the following states emerged
as the best three performers in terms of overall }
performance ?

(1) Kerala, Karnataka and Andhra Pradesh

(2) Gujarat, Madhya Pradesh and Unar Pradesh
(3) Kerala, Gujarat, Kamnataka

(4) Kerala, Tamil Nadu and Telangana

& 830B +8E° DB ud@rh r§ =085 Tl IV
2019-20 s vl Bsve HIBLe wgrdore Hod
56% BE6,00% St Toghen DD?

(1) Bu¢, domel, worsas

(2) huord, HigHaE, a85HIE

(3) B3¢, Haoed, Somes

(4) 38¢, sotonth, Bworre

Which of the following Prime Ministers
appointed Mandal Commission and taken
decision to implement its report ?

(1) Indira Gandhi and Viswanath Pratap Singh I
(2) Chandra Sekhar and Deve Gowda

(3) Indira Gandhi and Rajiv Gandhi

(4) Morarji Desai and Viswanath Pratap Singh
& 80 Prorddoghods® %Hodd $hsd

DEHoN0H,EeR &ﬂ‘d‘.‘u;ﬁ: when HYD0b ASH T
(1) moboe rrob; D¥erE Hard hofk

(2) Sosdnb; d33rx

(3) w@oboe rrobd); oodS b

4) Sworf devdd; DEEE Herd doR

29

115.

116.

total wealth of India between 2000 and 2020 is ;
(1) Decreased two-fold

(2) Increased eight-fold

(3) Increased three-fold

(4) Increased five-fold

Do Soss 36% 2021 @Heede 2000 Fod 2020

Sotf; w0’ Indo rESEE HoBE :
(1) Boloden éPﬁ!DEJ (2) 20EwBofen HAAGH
(3) Swloden OB (4) wHoBL DONCH

According to the Export Preparedness Index

2020, the following is NOT a part of the

Government of India’s schemes for the

promotion of exports :

(1) Primary Goods Exports Scheme

(2) Transport and Marketing Assistance Scheme

(3) Merchandise Export Scheme

(4) Trade Infrastructure for Exports Scheme

I8y 8 3E 3B 9026, 2020 Wb AbHEe

BFeryiro E%50 ar8S Heb0 IHES Sued® &b

eriio 5ot

(1) S Shhe Jbibhe HEko

(2) Oareem, SmGyfoh Sitah B580

(3) %o (HB)oRs) hbde S

(4) Qhdibe BEH ardey 5708 JShdraire
2@80

The Union Budget for Financial Year 2022-23

aims to strengthen the infrastructure with its

focus on which of the following priorities ?

A. Inclusive Development

B. PM Gati Shakti

C. MGNREGP

D.  Information and Communication
Technology (ICT)

Choose the correct answer :

(1) C& Donly 2y AB.C&D

(3) A&Bonly (4) A,B&Conly

2022-23 & 88 SodE 0D 208 oCf5 & 800 O

@rerdy Sorrad® SP0¥ Sthardired o6thio

SR OF0M DENHG ?

AL 5513&@4‘5 @5&’1;,@

B. ».2o.K&d§

C. Jodnubadd(MGNREGP)

D. =504, $due 085 Bsved (ICT)

KON 220 QoS odn:

(1) C& Ddmgad (2) A,B,C&D
(3) A& BHmgad (4) A,B& C Smdid
= EE +

EkE
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+

" (3) Mining and Quarrying Sector f

What is “Chahar Taslim™ 2

(1) A poetry collection of Nur Jahan. l
(2) Ttis a mode of salutation.

(3) Itisa form of a dance,

(4) A book written by Abul Fazal.
“oriB $ho" ol Hud ?

(1) &r¥sS Edde o8

(2) =daE Rodm8 558

(3) =Bas artas Bmedo

4) ood jud oohgex oo

Which of the following sector(s) showed positive

growth in Real Gross Value-Added terms in

2020-21 7

(1) Agriculture, Forestry and Fishing Sector

(2) Trade, Hotels, Transport, Communication
and Services related to Broadcasting

(4)  Manufacturing Sector
& S0l a86° 2020-2148 B Ko B85 Dens

8RGO FrEre )89 E5a8D8 Soro /Sorres

20 /297

(1) H5Fasho, wed), oo &6,8 Boro

() o, Fow), Saree, EinddLS, G
Dowos Hisen

(3) Dorb,zoiBowors BoKo

(4) &dird doifo

Armange the following major sources of India’s
Foreign Direct Invesiment (FDI) during 2021-22
trom highest to lowest :

A.  United States of America

B.  Mauritius

C. Singapore

D.  Netherlands

058 pay dtpatde (FDI) oroe 2rdd Savnd
2021-228° & 808 3 oo Hol wE08 Dol
wden S5dHen SO, Eirdongor e ) ye00:

|

|

!

|

: |
A, CiodBE 28«5 woee |
l

|

|

|

I

|

121,

B. 5035
C. 2olars
D. 3150:05_']

Choose the correct answer
R8I eiTani JohE Kk

() C,AB,D
(3) A/B,D,C

(2) D,B,

B, A,
(4) B,AC

C
D

mem 30
Ik H

l 120,

Match the following Land classifications of

Moghul period with their attributed meanings :

Classification Meaning

A. Polaj l. Land that has left fallow
for three or four years.

B. Parauti 2. Land uncultivated for
five years or more.

C. Chachar 3. Land [eft out of
cultivation for a time for
the recovery of its

strength,
D. Banjar 4. Highly fertile and
irrigated land.

3. Land regularly cultivated
and is never allowed to

lie fallow.
DS oo w8 & Bop e B650me%H 8
HoschHe wu;uﬁ‘ ALY H&aAD:
égédm ®%o0
A Dod 1L S o e dothre
Heoorm DA anis 2oy,
B. 38 2. 0% B0 wossod oS
DotHre FrHBFanD ey,
C. >386 3. o >0 DD &0
o8 sru0 Frod o
BoSES e,
D. mow§ 4 B8 DGKest Sri o
FBS08DS ¢,
5. 5P éree Neorr dosHon
REodbo I Schad 2Dy,
Choose the correct answer
R0 aarani QothEikn:

(1) A-3;B4;C-5;D-2 (2) A-3;B-1;C4; D-2
() A-5,B-3;C-1;D-2 (4) A-2; B-5: C-4. D-]

Which of the following were amongst the most
important Mahajanapadas ?

A. Nalanda B. Gandhara C. Kosala

D. Kuntala E. Panchala

Choose the correct answer :

(1) B,C&Donly (2) A,B&D only

(3) B,C&E only 4) AC&E only

& 800 8 0808 Lond Ditas Soom

S08RD 0D 7

A. Svo  B. meoges C. %o
D %oda  E. 3ooree
$B3 aTreni® JoXEin;

(1) B,C&D&rgd (2) A, B & D Smg%
() B,C&Esrgd () A,C & E Smgd
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Which of the following are considered as part of |
five major provincial centres of Ashokan Empire ? i
A, Taxila B. Kamboja i
C. Ujjayani D. Tosali |
E. Suvamagiri I
Choose the correct answer :

(1) AL.CCD&Eonly (2) A ,B&Conly ,

(3) B,C,D&Fonly (4) A,B,C&Donly |

& 808 86 2D w JEires®D vl HErs ]

rodah Sorrest o $BKBo Sotaran ? i

A, 85%v B. soffa I

C. dzond D. &390 ,

E. %3500 |

SO aranid Qo8 hEn:

(1) ALC,D&Esfmg@dh (2) A, B & C 5rEH

(3) B,C,D&E&rEd (4) A,B,C&D&rgd

Consider the following in relation to the Sun

Temple of Konark :

A. Konark is a2 monumental represcntation of
the Sun God, Surya's Chariot.

B. Its 24 whecls are decorated with symbolic
designs.

C. The Chariot is led by a team of sixteen
horses.

D. It is considered to be built by King
Narashimhadev-1 of the Ganga dynasty.

E.  Itis decorated with reliefs of fantastic lions,
musicians and dancers.

Choose the correct answer :

(1) A,B,D&Eonly (2) A, B,C&Donly

(3) AA.CCD&Eonly (4) A B, C&E only

&b, 6% sty Brodicds Sopobod & Sob

TR HBKSotos

A B e BHed St 85 B85 0y

B. 6% 24 Spro» P8l syt gon J
AT, I

C. Oord) 5655 e ayobo SEDL ]
a:)0.

D. ab forr ora SomdE Sobd o Isd I
$EROESTST  D0,0508506m  B6KS0S- |
wthibdb. I

E. 82 8o woobte etyd®ms Sodbe, |
SohST e, HEs ol b e, |

N8% aranid DoibhSdn : I

(1) A,B,D& E&m@d (2) A, B, C& D |

() ACD&E&rgad (4) A, B, C&E smisd l
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As per the archacological evidences, consider the

following in relation to Harappan Civilization :

A. The Harappans ate a wide range of plant
and animal products, including fish.

B. Grains found include wheat, barley, lentil,
chickpea and scsame.

C.  Rice grains were found abundantly in all
the areas.

D.  Animal bones found include cattle, sheep,
goat, buffalo and pig.

E. Bones of fish and fowl are also found.

Choose the correct answer :

() B,C,D&Fonly (2) A,B,D&E only

(3) ABCCD&E (4) A,B,C& D only

QU srTe  @Fdo S Ke%E%

QHonofod S 8ob 8 BBKBoSoA:

A TEHer DHes® 65 o Goe e,
2o dd el ¢hLoaetd,

B. warpd® Md, o8, 0% S, 38K
Ooren, Didsen aTryow.

C. wf @Erogwd® 56 ey A8dr

aflodaren.

D. 3%%e», FP@e, en, Adey,
wotheddnien sdooran.

E. Bien, 558 diimben drre €950 Jaron.

0TS 2aransd JosHEHHn:

() B.CD&ESrg@d (2) A B, D& Edmpgdh
(3) AB,C,D&E (4) A,B,C&D3r5d

Who among the following argued that “Colonial
education created a sense of inferiority in the
minds of Indians, it made them see Western
Civilization as superior, and destroyed the pride,
Indians had in their own culture” ?

(1) Mahatma Jothiba Phule

(2) Raja Rammohan Ray

(3) Mahatma Gandhi

(4) Womesh Chandra Bannerjee

Holsd o8 Pobabe S Leim
DT hodod, wriatue 0 o8 &
TRy wdSo DY, deEnd;  TROSSS
&5850m Srher 3Hod” 6 % §ob T
LB PHOTH?

(1) Hites; &80 58

(2) caodrprSod

(3) e mrob

4) ﬁﬁ)ﬁiﬁu@ﬁ aéé

EIRE e

Luw
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Consider the following in relation to the
Khajuraho Group of Monuments :
A. The temples at Khajuraho were built during
the Shunga dynasty,
B. These belong to two different religions —
Hinduism and Jainism.
C. These display the originality and high quality
of Nagara-style temple architecture,
D. These were built in sandstone, elevated from
environs by a highly ornate terraced platform.
E. The temples at Khajuraho were built during
the Chandella dynasty.
Choose the correct answer :
(1) B,.C&Donly (2) A ,C&Donly
(3) B.C,D&Eonly (4) A, B, C&D only
PersE St P55 Bomye Sowobod) & 80b
T80 H0rdoSod:
A oS Oorodivey  Hor  crasod
sreod® D 08eran.
B. 2J%rotir, 3% 93 8otd Iyh Hhereth BobBD.
C. 2 edh® oo $DAS Srroe sodh Ben 30
soire RS @60 o.
D. 20 deapdo ooosd rod Sodbbhus® &
285 080 BB and® 90058 Tan.
E. 9288 o) Borecrer Soder trasod
S7006° BSBTROD.
N3 a0 JoHE S
(DB, C&D&mgd  (2) A, C & D drgdh
(3) B,C,D&E&»gd (4) A, B, C & D &g
Which of the following is NOT an essential
qualification for appointment as a Governor ?
(1) He/She should have a domicile of the state
to which he/she is being appointed.
(2) He/She must not be a member of
Legislature or Parliament.
(3)  He/She shall not be holding any office of profit
under Central, State or Local Government.
(4) He/She should be a citizen of India and
completed 35 ycars of age.
& 800 86" K555 DATROE $5,053: Ot
508 26 ?
() ®85/6D 5 0P AobDoswtes’ o
ErER wow doeh,
(2) o85/ed #3558 Sor Fgotn Behyh
BO PJoLERED.
(3) o580/ 3o, oog o IS Eeporpst
Qo orZSrabdm S0 BOA eoXErES.
(4) oh/ud r8ds F6Hg dowd, 35 Dok

S B0A aoned,

U 32
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' 128, Using the powers enshrined in Articles 2 and 3

l
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of the Constitution of India, the Parliament can

do which of the following ?

A, Admit new territories as new state of India,

B.  Split or merge existing Indian states,

C. Transfer and exchange of territories to
neighbouring countries,

D.  Alter the names and boundaries of existing
Indian States,

Choose the correct option :

(1) A, C&Donly (2) A,B& Conly

(3) AB,C&D (4) A,B& Donly

B8 amoros®d  PESmer 2, 3 edf

Pothdtinls ebsmod e¥@rA0D, &rERobn

& 808 o86° D Bdbifets ?

A. T8 drepmoid grdstEed’ 8 ogor
860 ,8%5 0.

B. a8 o) 288 ooreh dgoddo S
0550 Fawio.

C. &8H deod tremo 5988, »0d
Sdbitlo.

D. =888 &%) 88 ooare 3, sewe Sen
Srdsto,

S33 e oDk :

(1) AC&D&Ergd (2) A, B &Clrgdh

(3) AB,C&D 4) A, B&D&EmEd

Which of the following Lok Sabhas were NOT
completed their five-year term of existence 7

A. Tenth B. Eleventh

C.  Twelfth D. Thirteenth

Choose the correct answer :

(I) C&Donly (2) A &Bonly

(3) A& Donly (4) B & Conly

& 50B TBEY d SF Hren O KoR o
Sod8yore sPo0 BSFNRnE 8 ?

A, D85 B. 388ous

C. JNoES D. D&sarEs

85 aarand JoHE R

(1) C&DImsd
(3) A&DIrsSdh

(2) A&B&Ergd
(4) B&C s

e ———————————



130.  Consider the following statements relevant to the
Principles of Ministerial Responsibility :
A. The Council of Ministers shall
collectively responsible to the Lok Sabha.
B.  The Council of Ministers shall meet at lcast
once in a month.

be

C. Ministry as a body shall resign as soon as it
loses the confidence of the Lok Sabha.
D. The Ministers shall hold the office during

the pleasure of the President.
Choaose the correct answer :
(1) A/ B&Donly (2) A,B&Conly
(3) A,C&Donly (4) B,C&Donly
dHod £ ariifeh Sonohod & Bod e

H0ciodos;

A, Hod Hod O SPO I ere
SArroB.

B. o DHoXd 3JodHh €D g
SIPITSF 0B,

C. 6% WS Degho B iomd Jowrd Ho@
$008D Indo Trdarir JaeD.

D. o8 edgo % Hoge ebsBos
3dthavdh.

R0 2D JoHE Sk

() AAB&D3»Sdh (2) A BE&CHeEd
(3) AC&D&rgD (4) B,C&Dirgd

131. Who were thc other memhbers of Justice

RS. Sarkaria Commission on Centre-State

Relations ?

(1) Dhirendra Singh & N.R. Madhavan

(2) B. Sivaraman & Dr. S.R. Sen

(3) VK. Duggal, Vijai Shankar & NR.
Madhavan

(4) M.M. Punchi & V.K. Duggal

éo@ﬁ—mg Romotrop doptn DS 285 6b. J5.

o7 Bcsm EnHE™ 888 Bahyen 5% ?

(1) %o ok, dF. 6b. Srsss

(2) 3. 35058, .05 6558

(3) D3.D5HE, Dadd Ho88, A8, 68, SmESS

(4) Do.do.§Frod, 28.&ié

132

| 133.
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The cffects of the Proclamation of WNational
emergency are :

A. Extension of the Exccutive Powers of the
Union Government,

Extension of the Parliament’s law making powers.
The federal provisions of the Constitution
will continue to function.
Restriction on  fundamcntal
guaranteed in the Constitution.
Choose the correct answer :

(1) A,B&Conly (2) A&Bonly
(3) A.B&Donly (4) A& Conly
PBID OIEHHY BOYB P50 Geraren |

Bo(s Eeod RO wlhisworen 9 FiParon.

gbotn iftpen ErdroBod LRSI B e,

OaRg0no6 Biirws oftren HOTERE dotra.

oramgoiio ST 30y PEDE Hded $608.

A0S 22arandh JoHE Sodw:

(1) A B&CErgd (2) A&BEsgd

(3) A,B&D&rgd (4) A&Cared

According to the Election and Other Related

Laws (Amendment) Act, 2003 :

A. A 50% tax exemption to individuals and
corporates on all contributions to political parties.

B. Disclosure of party finances and

contributions over ¥ 20,000,

Equitable sharing of time by the recognized

political partics on the cable television network

and other electronic media (public and private).

Expenditure by third parties and political parties

comes under ceiling limits, and only travel

expenditure of leaders of partics is exempted.

Choose the correct answer :

(1) A C&Donly (2) A,B & Conly

(3) A,B.C&D (4) B,C&Donly

SRS, ABY Joodd Sepe (S550) Sho, 2003

[seto:

A S8, sEFY caldh bob ad) 6ok

SEFaH0o3 50% 55 Stowos.

FBoB e, 20,000 s I 88% skabo,

g Sowodd sozre Jal.

Send BODS 3G, vds o35 b

(885, pIS) P Hdired HhoH

EroBis trasfad Srfen Siirdion Hossto.

o dahbes Paire Syoho LSS,

oafad b, a8 3D Hobo g

28 S0oR $808 408 $50B.

838 2rranid HoHSHin:

(1) A C&DErEDH (2) A, B&Cirgd

3) A, B,C&D (4) B,C&D&m@d

*
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D.
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134.  Which of the following group of persons were | 136.

members of State Reorganization Commission ?
(1) S. Fazal Ali, $.K. Dhar, K.M. Panikkar

(2) S.Fazal Ali, SK. Dhar, H.N. Kunzru

(3) S. Fazal Ali, H.N, Kunzru, K. M. Panikkar
(4) S.Fazal Ali, K.M. Panikkar, B.M. Katzu
Tgro B35 B850 0ES 68 & 20b w6

DS Hefogenre SoRaech 7

(1) 0. 686 wb, 353.56,8.05. S5, 6

(2) OR.5ud wd,253.685,15.05. Bop=
(3) ;)54&55@9,bS.QS.éno@N.Q.é}S).mé&E
4) aﬁ.aaéwb,a.as:.mgﬁ,a.asa.geg

135.  Who among the following were members of the ,

Constituent Assembly of India ?
A. Annic Mascarene

B. Dakshayani Velayudhan

C. Ammu Swaminathan

D. Sucharita Pandit

Choose the correct answer :

(1) A,C&Donly

@) AB&C only

(3) C&Donly

(4) B,C&Donly

& Bob 86° D38 orersol aﬂ'll:a [t Fﬁﬁ)ﬁﬂ)f‘i"

dodart ?

. 8D 55,08

B. orgrahd SerdinsS

C. odwr Pdrss

D. 5388 H0a8

R0 P20 Do k!
(1) A C&Dsrad

(2) A B&Csrgd

(3) C&D&Ergd

(4) B,C& D &resah

>
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Match the following Women Chicf Ministers
with their respective states -
Women Chief Minister State

A. Sucheta Kripalani 1. Goa
B. Nandini Satpathy 2. Assam
C. Syeda Anwera Taimur 3. Uttar Pradesh
D. Sashikala Kakodkar 4. QOdisha

5. Maharashtra
& Sob Hirer Swy; HogeH 6 wpes’

e8NS S

DePee Somszod 3o
A DTS Eberd 1. e
B %082%8y8 2. oD
C. Rchor od a8surs 3. asbgds
D. B 85%5 4. 283
5. oy

Choose the correct answer :
S8 e JoHEHsm:

(1) A-3,B-4;C-2;D-1 (2) A-3; B4;C-2; D-5

() A4;B-3;C-1;D-5 (4) A-5;B-2; C-3. D-]

Good governance aims to bridge the gap between

power and people. An important aspect in this

direction is the responsiveness of the government,

Which of the following strengthens responsiveness ?

A. Evolving and abiding by a Citizens’ Charter

B. Redressal of Public Grievances

C. Review of Laws, Regulations and Procedures

D. Competitiveness in politics and electoral
process

E. Transparency and Right to Information

Choose the correct answer -

(1) A,B.D&E only (2) A,B & Conly

(3) AACD&Eonly 4) A B.C&E only

SO Bo-dae i wosov, SRoSKED Hbbes

OE0. S DFE® Sopsos ©odo @ebesh B8:85)083.

62800 TU6° 1850855 peBdED 52 2

A T >EGH 080 Sabto, s Stoed

daido,

P HTHOR 08, 60it0.

:Sq:u:, Aeootiien, drmes .‘S‘f.bgorﬁﬁo.

credatren, 2980 R8st Fdo,

. PBEEES, SSroed 8.

SBS P JotHEhikn:

(1) A, B, D & E $rgd

(2) A, B & C s

(3) A.C, D & Edmgdh

(4) A/ B,C&Esrsdh

mo o w



138, What is the reconfigured pedagogical structure of
school education system in the New Educaticn
Palicy - 2020 ?

A. Replacement of present 10+2 system with
5+3+3+4 system,

Replacement of present 10+2 system with

4+4+3+4 system.

The system consists of foundational,

preparatory, middle and high school stages.

The high school stage is subdivided into two;

9 & 10 in the first and 11 & 12 in the second.

There is an option of exiting at Class 10 and

re-entering in the next phase.

hoose the correct answer :

; A,C,D&Eonly (2) A,C&Donly

B,C,D&Eonly (4) B,C&Donly

Grgs dorg Dpro-20208° Fdere Doy P

238005083 6555 Vom0 DS ?
A S8 1042 Dordo S0l 5+3+3+4 Derdod

o o w

aco ™

5

Sty Sdbatios.

B. @&%8 10+2 Hordo Sod 4+4+3+4 Jpriiokh
Srd) Sobadod.

C. & &5 Hmd, doeg, D, b
dedeve Béen DA dotnod.

D. 2rimS 0ot 6¥e0: 9 & 103068, 11 & 12
Cotsss tidenre D&fotiadiob.

E. 10 % s51868° D@l‘oﬂ, $H36 BdS® aon
B5803 oderdo B,

S8 e JoHE Nn:

(1) A, C,D & E&rgah (2) A, C & D Smgsah
(3) B,C,D & E &»@d (4) B, C & D &g
139, Which of the following are considered as the ways of
venting and redressing the abuse of power ?
A. Subjecting power to the threat of sanctions.

B. Obliging it to be exercised in transparent ways.
C. Forcing power to justify its acts.

D. Allowing media into decision/policy making meetings.

Choose the correct answer :

(1) A, B&Conly (2) A&Bonly

(3) B,C& D only (4) C&Donly

& 308 8E* DD ©fs~E B RArTY) DaBoD, TPl

Renige DO oeR8 Srvrenre SOHIoS wileron 7
A. ©5mTd) soge BABODD S0isKo.
B. efsvord) s Sorm ekoen Bhre08 Sinbe Sen.
C. St S50 vbsoy a&thio Tabto.
D. 978 &roSeys, NP SErdeoH @b
SErisime whddosto.
K35 earaih JothS K
(1) A B&Cimgd (2) A&BIrgd
(3) B,C&D&rgd (4) C&D srgd

I 140. The PM-KUSUM Scheme was launched by the
Government of India in 2019, It is a part of
which of the following ministry ?

(1) Ministry of Social Justice
(2) Ministry of New & Renewable Energy

(3) Ministry of Forests, Environment and
Climate Change

(4) Ministry of Family & Child Welfare
gPOd ©EHdo D Jo - DD S50 20196
r8oDodod. ab & 8od O HoBd; wad® grrio?

(1) Df b FAS e

(2) 2D &8 Ky w0E TgseoS 256

(3) G S FBH), MT-I085 wob g&ﬁ' Sodf
(@) 2025 uS Jsiod wof 35 386

141. Anti-corruption measures of the Central
Government are the responsibility of :

A. The Central Vigilance Commission

B. Administrative Vigilance Division [AVD]
in the Department of Personnel & Training

C. Central Bureau of Investigation [CBI]
D. Intelligence Bureau [IB]

Choose the correct answer :

(1) A,B&Donly

(2) A,B & Conly

(3) Cé&Donly

(4) A&DBonly

S0 G2biss DDB DE° S Stisen DO amsye -

] A, Bopoenl) sHhas

B. 2208, 8% dzrHo 650 @45.3&'1'5355 DEBE,
&R [AVD]

C. o art® wh addiias [CBI)

|

|

| D. =mobdas,ers® [IB)
| X3 axanky doHEon:
| (1) A,B&DIrEd

I (2) A,B&CSrgd

| (3) C&D&Emsgdh

| (4) A &B&mgd

e
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142.  Match the following Bills/Amendments passed
by the Parliament in 2020 with their respective

Ministries :

Bills’yAmendments Ministry

A. The Occupational Safety, 1. Finance
Health and Working
Conditions Cade, 2020.

B. The National 2. Labour and
Commission for Allied Employment
and Healthcare
Professions Bill, 2020,

C. The Insolvency and 3. Personnel,
Bankruptcy Code Public
(Second Amendment) Grievances
Bill, 2020. and Pensions

D. The Companies 4. Health and
(Amendment) Bill, 2020, Family

Welfare
5. Corporate
Affairs

20206° SBJot» ©IPE0 FoBS & Bod
Deves /5580 T8 Somodd HoBd; eyest

e2éf S8hin:
Depen /556men DoBs ey

A. BoDRRIE DG, S 1. pel,
wok $830R EodRS,
&8, 2020.

B. 63836805556 2. Bnbwok
o8& wof; 2rd 56 QoPdhol
@45, BS, 2020.

C. 8arrdd wol 3. BEySE, 598
@5055{}}& 555 (2%l SR wok 312:.?53

23000085 ) O, 2020.
D. 85oud% (0B0Bi085) 4. o8 w0l Jrsob

&, 2020, 38,6
5. =5 Jﬁég @QE;,
Choose the correct answer :
TR e QoS Dsn:

(1) A-4;B-3; C-5; D-1
(2) A-2;B-4;C-1;:D-5
(3) A4;B-2;C-1:D-5
(4) A-3;B-2;C-5;D-1

|
|
|
|
|
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143. The River Cities Alliance (RCA) launched in
February, 2022 aims to provide the member
cities a platform to discuss and exchange
information on the vital aspects for sustainable
management of urban rivers. Which of the
following cities are part of the RCA ?

A.  Ayodhya B. Delhi C. Hyderabad
D. Rishikesh E. Udaipur

Choose the correct answer:

(1) B,C,D&Eonly (2) A, B&Conly

() A,B,D&Eonly (4) A, C,D&E only

056 85 oS, (RCA) Spso6 202260
@rSooselab. ab S $ehe DEILS Ve
BomoBod S B vomed 38,00, Lirom,
o) THESTE K Shoed o8 3680
©0803%0 B v¥o.& B0b B O Srvee

RCAE® zrifore aimmyon?

A oS B. & C. rsverd
D. o%88 E. &&d 56

RGN maranih JoHEHS0:

(1) B,C,D&E&m#Ed
(2) A, B & CSrgdh

(3) A,B,D&E&mrgd
4) A CD&Edrgdh

144.  Which of the following aspects are considered as
the social accountability initiatives ?
A. Centralised bureaucratic planning and
policy formulation.
B. Citizen's Charters.
C. Community score cards,
D.  Participatory expenditure tracking.
Choose the correct answer :
(1) AAB&Donly (2) A,B&Conly
(3) AB,C&D (4) B,C&Donly
& 8ol 85 D womren PErEE aTrmmrBES
TESenrr 38rSoSotavron ?
BoB8)H whs S BerbS, Do SrBESmes.

8 G
S0t 95,5 setipen.

D, arHuging Sga% B8535es.

HB eraTreni® dothE K sn:

(1) AB&DSrgd (2) A B&Cirgh

(3 A,B,C&D (4) B,C&D&mgd
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145. What is TS Globallinker ? j

>

It is a digital networking platform.
B. Itis an initiative of T-Hub.

C. It helps MSMEs contact global buyers and

sellers.

D.  As per Socio Economic Outlook — 2022, a
total of 7,000 SMEs from Telangana have
registered on the platform. f

E. It collaborates with the Confederation of
All India Traders (CAIT).

Choosc the correct answer :
(1) ACCD&Eonly (2) A, B & C only
3) A,B,C,D&E (4) A,B,C&Donly

TS FE28086 e 320 ?
A, abel8a0d 3550)0R S 6,
B. @b Trd 5°63.

C. =0 MSME e Fad ESRfamriw,
IFBeD JoRBoIES® HIBADHHH0B.

D. Boormr Fhdr HwE BepE - 2022
Sorsedio Ando 7,000 SME e & 3065 5, ’
& $rth Bothamyom.

E. 30535088 0b od soldr BB, (CAIT) j
& Sir5eruos.

.‘S‘B_Fﬁ aeeni oth s dn: I
(1) A,C,D&E&rgd
(2) A, B&CSosd }

() A,B,C,D&E

(4) A,B,C&Dargd |
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146. The Tclangana FElectric Vehicle & Energy

Storage Policy 2020-2030 provides 100%
exemption of road tax & registration fee for
different variety of electric vehicles upto certain
number of vehicles purchased and registered in
Telangana. Match the following types of vehicles
with their limits of exemptions ;

Type of Electric Exemption upto
Vehicle
A. Two Wheelers 1. For first 20,000
vehicles
B. Threc-Seater 2. For first 10,000
Auto-Rickshaws vehicles
C. Buses 3. For the first
2.,00,000 vehicles
D. Private Cars 4. For the first 500
vehicles
E. Light Goods 5. For the first 5,000
Carriers vehicles
6. For the first 12,000
vehicles

Bronver Q08 LS & D36 AFTS Fobd 2020-
2030 8oorred® oo O, $ard 303 DO
Def8 e DY Sopd® 6% Sk, B2HES
owd® 100% oSHFowod obiod. & Sob
e rTod 8 DSSFavode $eQkbhost
23S Hdn:

D088 ardedo Ko a0i5:Pan0d) H6an8
A, By ardearen 1. 3wesd 20,0000
e
B. 858as 8pen 2. Zwidd 10,000
oD
C. odye 3. o 2,00,000
rarEareth
D. 3ERse 4. 3noisés 500
TrTrobH
E. B8 ek, 5. 3o 5,000
250096, TPTOD
6. w66 12,000
TP

Choose the correct answer :
$0: e JoDERHEn:

(1) A-6; B-3; C-2; D-4; E-5
(2) A-3; B4; C-6; D-2; E-1
(3) A-6;B-1; C-2; D-5; E4
(4) A-3;B-1;C-4; D-5; E-2




147.

148.

149.

In Yasangi 2021-22, around 63 lakh farmers
received investment support under the Rythu
Bandhu scheme. Arrange the following
beneficiarics from lowest to the highest based on
the number of recipients :

A, BCland owners B. SC land owners

C. STland owners  D. Other land owners
aeiSoR 2021-22 &° B woth Heo 8ol e
63 ofe Sen iynd LEH Fow. Kirdo
Sow; eoedore 808 vlmrho 855 wol Dy
Rogs t&'eﬁ}dJJEi}J:

8D e dhasrhew I
I8 D g dhesmioen ‘
IR & 2ir chesrSen

BB ¢ dhadirfoe

0w o>

Choose the correct answer :
B aaran JoHESDSw:

() C;B;D;A (2) B:C:D: A
(3) B;A;C, D (4) B;CA;D

Which of the following projects aims at
improving dietary diversity among tribal children
and women ?

(1) Giri Bhojanam (2) Giri Arogyam

(3) Giri Samatha (4) Giri Poshana

& 8od B6° Nowd byw, Hos® e 30gD
DO BEIERS AFBoDS BH DO ?

(1) AB&mso (2) AB B0
(3) RGBS 4) No s

The Social Innovation Policy of Telangana is i
driven by which of the following 7

(1) Educate, Innovate and Enterprise
(2) Empathise, Inclusive and Empower
(3) Collaborate, Innovate and Transform I
(4) Innovate, Produce and Market

& 80b o wosre oRo Buorrer RS aTHFES
Jreod 30BH00?

(1) JDES, a3, dows s

(2) 203BSE, vo¥ras, JoHss

(3) Forsd8, a3, ¢r5> 6,

(4) ahdeS, @dmR, gy
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150. Consider the following statemcnts regarding

inclusive policies for older persons :

A. Rashtriya Vayoshri Yojana (RVY) provides
physical aids and assisted living devices to
scnior citizens.

B. SACRED portal was launched for the
reemployment in dignity for the senior
citizens.

C. The Government provides financial
assistance directly to the senior citizens
through an open invitation on Seniorcare
Ageing Growth Engine (SAGE).

D.  Atal Pension Yojana (APY) in open to all
citizens of India between 18-40 vears of age
and administered by the Pension Fund
Regulatory and Development Authority
(PFRDA).

Choose the correct answer :

(1) B, C & D are only correct.

(2) A, B,C & D are correct.

(3) A, C & D are only correct.

(4) A, B & D are only correct.

S)do eoétg.ﬁé agrare (Inclusive policies)

Booolodi & armend $6800S0a !

A, oHod @R Gres (RVY) BRdSE rten
F°88 Jfabsoth, $HaE AX5H0%ored
©olEhHod.

B. S0hb BOus AoS@psorr 80A add
§godto  &%o  SACRED g8
@roflodedod.

AaoE 86 DAoR (8 mowS (SAGE) ?

afrdor eifglo oroe BOGHE D

SorrEebEso 98 JEAEPR) ©oBROB.

D. 18-40 Sodgyore H&; Scbkoy Ko rss
PHocltE whd 25 G@rwi (APY)
wotherénd®  aotwod, 829 D38 Hob
BrigBd wok BseSdotS wered (PFRDA)
& Ao,

H8S 2D JoHE Hdn:

(1) B, Cimgsd D forgad 359,

(2) A, B, C%bdbs D $3:59.

(3) A, CErgd D Sm@ 5g59.

(4) A, B3raEd D Sr@d 5859,

o)
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